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Preface

The Maths Mate Program is designed to be used in schools by students
from years 3 to 10. Emphasis is placed on the review and gradual
development of basic skills.

It is not expected that all students will be able to complete every question
from week one. Some questions have been designed to offer a real
challenge. However, a major strength of the program is that students are
consistently confronted with problems relating to their understanding of the
same basic skill, encouraging them to see the need to master that skill in
order to progress.

Maths Mate 8 cover painting Kangaroo - 2003 Acrylic on canvas 60 x 50 cm
by Australian artist Susan Betts - Kokata, Mirning and Wirangu.

‘Kangaroo’ was purchased by The Educational Advantage who have been kindly given permission to reproduce the painting.
This contemporary Aboriginal artwork combines traditional and modern techniques. Susan’s rich and vibrant art reflects the
Australian landscape and wildlife, both flora and fauna.
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Term 1

[+ Whole Numbers to 10]
[- Whole Numbers to 10]
[x Whole Numbers to 12]
[+ Whole Numbers to 12]

[Large Number +,-]

1.

2.

3.

4.

5.

[Large Number x,+]
[Decimal +,-]

6.

7.

[Decimal x,+]

8.

[Fraction +,-]
10. [Fraction x,+]

9.

12. [Decimals / Fractions / Percentages]

11. [Percentages]
13. [Integers]

14. [Rates / Ratios]

NUMBER & ALGEBRA

15. [Indices / Square Roots]
16. [Order of Operations]

17. [Exploring Numbers]

18. [Multiples / Factors / Primes]

19. [Number Patterns]

20. [Expressions]
21. [Substitution]
22. [Equations]

23. [Coordinates]

24. [Units of Measurement / Time]

25. [Perimeter]
28. [Location / Transformation]

26. [Area/ Volume]
27. [Shapes]

29. [Statistics]

30. [Probability]

31. [Problem Solving 1]
32. [Problem Solving 2]
33. [Problem Solving 3]

PROBLEM

STATISTICS &
MEASUREMENT & GEOMETRY SOLVING

PROBABILITY

Total Correct I:l I:l l:l I:l
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1. [+ Whole Numbers to 10]

4[6]11]8]7]13[10] 2 [ 9 [15]| MATHS MATE
+3
2. [- Whole Numbers to 10]
15|17/ 8|6 (13| 9 (11|12/10|14
_4 Term 1 - Sheet 1
3. [x Whole Numbers to 12] Name: ...
4 5 10 8 7 11 3 6 9 12 Due Date: ........... Y /o,
X 2 Parent’s Signature:
4. [+ Whole Numbers to 12]
5 10 40 45 30 35 20 15 50 25 fg\fgjsz;::mwvssltome, and those who want it the
+5 o of Crosterteld oo+
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
2453 — 249 — What decimal number is What is the value of the
shown on this meter? underlined digit in the
number 964?
6. [Large Number x,+] * m
3070+ 10 =
S - 18. [Multiples / Factors / Primes] *
List the common
7. [Decimal +,-] * multiples of 4 and 5 up
3.57 + 4.81 = to 60.
13. [Integers]
8.  [Decimal x,+] * Arrange in ascending
order:
0.35x 10= 5 -2 3 _6 7 19. [Number Patterns]
I Complete the pattern:
9. [Fraction +,-] 2, 10, 18, 26,
5 1 —
7777
14. [;iates /I {R}atiotsl}] ” 20. [Expressions]
mpii erato ] ;
10. [Fraction x,+] p y Smpllfy
3 18: 30 t+t+1t
5Ex—=
7
21. [Substitution] =
11. [Percentages] * 15. [Indices / Square Roots] |f y= 8,
In Australia 32% of 62 = find the value of
women will never y+7
marry. What
percentage of women 16. [Order of Operations] * 22. [Equations]
will marry?
3+7x3= +7=13

page 3
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23.

[Coordinates]

What is the grid reference of the enemy
hit on the battleship?

A B CDEFGH I J K

”g\, Enemy hit
@SE@E> Battleship

29.

[Statistics]

Which world region has the highest
penetration of the internet?

| World Internet Usage 2012

|
\ World Regions |[% popn. penetration|[ % of world usage |
| Afica | 15.6 I 7.0 |
| Asia | 215 I 448 |
| Euwope | 63.2 | 215 |
| WMiddleEast | 40.2 I 37 |
| NorthAmerica | 786 | 114 |
| Latin America/Carribean | 42.9 I 10.6 |
| Oceania/Australia_______| 67.6 I 1.0 |
\ WORLD TOTAL | 343 I 100 |

24. [Units of Measurement / Time] 30. [Probability]
3 Ita can choose an economy, business or
16m= mm first classflight to London, Paris or
Rome. How many different outcomes
25. [Perimeter] * are pOSSI ble? [complete the table.]

Usea I’U|el’ to f| I’ld the pen meter Of the Outcomes (sample space)
parallelogram in millimetres. economy London

economy

economy

mm
31 [Problem Solving 1] *
26.  [area  Volume] Some cubes have been removed from
Do these triangles have the same area? an array of 5 x 3 x 3. How many cubes
remain?
\
L
— \
32. [Problem Solving 2]

27. [Shapes] A man looking at a photograph says,
Use a protractor to “Brothers and sisters | have none, but
measure this angle. that man’s father is my father’s son.”

Who isin the photograph?
33. [Problem Solving 3] *
Three girls, Angela, Lakishaand

28. [Location / Transformation] ‘]esaca’ each have one brother and one
Draw all the axes of symmetry of this pet. Lakishahasabulldog. The horse
shape. How many axes of symmetry belongs to the girl whose brother is
does this shape have? Paul. If Angela’s brother is Ken and the

other brother is Stephen, who is
Jessica’s brother?
8.1.1 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

5/6[10] 2| 8[11] 74 93] MATHS MATE

+ 1
2. [- Whole Numbers to 10]

19/ 71 6(10/12, 8| 4 |11|13| 5

_2 Term 1 - Sheet 2
3 [x Whole Numbers to 12] Name: ...,
4 7 5 2 1 6 9 3 10 8 Due Date: ........... Y Y

X 3 Parent’s Signature:

4. [+ Whole Numbers to 12]

24|14 116132122836 20| 40 | 8 || e car e maruocansoicentings e

wrong has thought of someone he can blame it on.

- 4 Rossiter
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
B What decimal number is In the number 3.241
7963 - 3482 = shown on this meter? which digit isin the
hundredths place?
6. [Large Number x,+] * 02 03
S %
22000 + 100 =
S %
. 18. [Multiples / Factors / Primes] *

/. [Decimal +,-] * List the common

25.9 + 30.7 = multiples of 3 and 7

up to 70.
8. [Decimal x,+] 13. [Integers]
Use < or > to make a
0.622 x 100 = true statement.
19. [Number Patterns]

9. [Fraction +-] 3 -4 Complete the pattern:

1 4 _ 43, 37, 31, 25,

13 13 14. [Rates / Ratios]
10. [Fraction x,+] * S mpl Ify theratio 20.  [Expressions]

3 40: 28 : Simplify

7 x14 = m+m-m+m
11. [Percentages] * 15. [Indices / Square Roots] 21. [Substitution] =

What percentage of the , Ifr =23,

distance covered by an 9" = find the value of

Olympic triathlon do 5r -8

athletes cycleif they

swim for 3%’ run for 16. [Order of Operations] * 22. [Equations]

20% and cycle

the remainder? 5x9-6= 16 - =9

page 5 L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]
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23.

24,

25.

26.

27.

28.

[Coordinates]

Which town is located at the
coordinates (6,2)?

Y
. A
‘ : Arafira Sea

AUSTRALIA| Timor Sea 2

5 P arwin[
/j ST Coral sea
4 é Dampigr _ Alife Springs RO
(]

3 Indian Ocgan
Perth | Whyalla o
L

o

Southern Ocean ! ‘AL )
Tasmar]iaEl uncestan

0 1 2 3 4 5 6 7 8 9

10X 30. [Probability]

[Units of Measurement / Time] *

200 mm = cm

[Perimeter] *

Use aruler to find the perimeter of the
polygon in centimetres.

cm

[Area / Volume]

Do the parallelogram and the triangle

have the same area?
\ \
[Shapes]

Use a protractor to measure this angle.

[Location / Transformation]

Draw the axes of symmetry of these
shapes. Circle the shapes that have
vertical symmetry.

29. [Statistics]

Which food type has four times as much
protein as brown bread?

Food (50 g)| proteins (g) | fats (g) [carbohydrates (q)
brown bread 4 0.9 24.6
fresh cream 1 11.5 1.5
chocolate 16 15.5 28
boiled egg 6.2 5.7 0.3
strawberry 0.45 0.35 8.6
tuna 12 0.4 0

How many different outcomes are
possible when choosing avowel and
choosing a card suit (spades, clubs,
hearts or di amonds)? [Complete the table.]

Possible vowel
outcomes a e i o u
=S| aS | &S
2|C| a,C
o
5 H| a,H
D

31. [Problem Solving 1] *

Caro painted this design in her art class.
What is theratio of the black portion of
the design to the white portion?

o

32. [Problem Solving 2]

Complete the +]3|8
addition table. 5 6

14
12 17

13

33. [Problem Solving 3] *

To buy both the green (G) and blue (B)
bikes would cost $1500. To buy the
green and red (R) bikes would cost
$750. To buy all three bikes would cost
$2000. How much does each bike cost?

G=% B=$ R=$

8.1.2 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

4[7]2]5]1]10]8]6]9]3] MATHS MATE
+ 10
2. [- Whole Numbers to 10]
6 (13/10| 7|12, 8 | 5,9 (11|14
_3 Term 1 - Sheet 3
3. [x Whole Numbers to 12] Name: ...
5 8 11 6 9 12 10 7 3 4 Due Date: ........... Y Y
X 5 Parent’s Signature:
4. [+ Whole Numbers to 12]
16 14 24 8 12 22 6 10 20 18 SrUaSEeOyZI:i:ﬁmtne things; and thence proceed
) Evetote.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
8921 — 3506 = What decimal number is Wheat is the value of the
shown on this meter? underlined digit in the
number 0.55?
6. [Large Number x,+] * 2
630000 + 100 = v
~ 18. [Multiples / Factors / Primes] *
What is the lowest
7 ecimal st % common multiple (LCM)
- [Decimal+ -] of 5and 6?
3.68 + 4.51 =
13.
8. [Decimal x,+] * [Llrjtse;e;s]or > to make a 19. [Number Patterns] -
60.5 x 1000 = true statement. Complete the pattern:
e & 2232629
9. [Fraction +,-] * .
4 3 14. [Rates / Ratios] 20 [E.xpress.lons]
—+—= N , Simplify
5 5 Simplity the ratio hi + hi + hi + hi + hi
10. [Fraction x,+] * R kg '8 kg
2 5
g X 9= 21 [Substitution]
15. [indices / Square Roots] If t =4,
11. [Percentages] * 02 _ find the value of
Eighteen-carat rose a t+6
gold is 75% gold, 9% 5
silver and the rest
COpper. What 16. [order of Operations] 22. [Equations]
percentage IS
copper? 56+7+1= 17 + =26

page 7

L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]




Authorised for the use of: CRAIG MCCAUGHAN

23. [Coordinates] 29. [Statistics]
What are the coordinates of the points Of the animalsthat live for 15 years,
C and D on this Cartesian plane? which has the lowest heart rate?
R Creature | ¥eight || Fearcigre || Longer
L7 Human 90000 60 70
F6 Cat 2000 150 15
-5 Dog 5000 90 15
4 D Chicken 1500 275 15
3 * Horse 1200000 44 40
2 - Cow 800000 65 22
[ C - Pig 150000 70 25
Y01 234567 8X
C( , ) D( , )| 30 rrovabiiy
How many different outcomes are
24 [units of Measurement / Time] * possible when rolling two dice? < .
46 [Complete the table.] ‘IQQ
m = mm .
c Possible Die 1
outcomes 1 2 3 4 5 6
25.  [Perimeter] * 1] 1,1 1,2
Calculate the perimeter of the 2| 21
quadrilateral. o3 31
5.5cm A4
5
15cm 6
4cm
3cm cm 31 [Problem Solving 1]

26. By moving 3 matches to new positions,

Find the area of the shaded shape. change the diagram so that there are
[Round to the nearest whole number.] 4 squares.

R
| ) B

[Area / Volume] *

Sq. units 32. [problem Solving 2] *

27. [Shapes] ) _
Without measuring, would you estimate Enter a number in eech circle
that the size of th'g’ lei yl t so that the number on each
30 or toaney OGS EIOSEO line equals the sum of the 27

oroas numbers at each end.
18
33. [Problem Solving 3] *

A ball isdropped from aheight | 24m
of 24 m. With each bounce, | o
the ball reaches a height J_h om

28.

[Location / Transformation]

Draw the axes of symmetry of these
shapes. Circle the shapes that have
horizontal symmetry.

that is half the height of
the previous bounce. How
far hasthe ball travelled
by the time it comes to

rest? [Hint Theanswerisa
whole number.]

unce 2

After 2 bounces
24 +12+12+6=54m

m

8.1.3 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

11512/ 816497 10] 3] MATHS MATE

+5
2. [- Whole Numbers to 10]

20118|14113|17)11 /1516|1219

~10 Term 1 - Sheet 4
3. [x Whole Numbers to 12] Name: ...
12 8 7 11 4 6 3 9 5 10 Due Date: ........... Y Y

X 4 Parent’s Signature:

4. [+ Whole Numbers to 12]

QUOTE OF THE WEEK
4 11 8 12 7 10 6 9 3 5 He that is without sin among you, let him cast the

first stone.

- 1 JOHN 8:7
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
7605 — 1485 = What decimal number is What is the value of the
shown on this meter? underlined digit in the
number 6.0297?

6. [Large Number x,+] *

2 0.
N 00 03 5

504000 + 1000 = o® % -
© G 18. [Multiples / Factors / Primes]
What isthe lowest
: « common multiple (LCM)
7. [Decimal +,-] of 9 and 127
52.7+38.1=
13. [Integers]
8.  [Decimal x,+] * Agange in descending 19. [Number Patterns]
oraer. .
3.49 x 1000 = 3.3 7 906 Compl ete the pattern:
T 865535/
9. [Fraction +,-] * ’
E — E = 20. [Expressions]
9 9 . .
14. [Rates / Ratios] * |S|mp“fy T
_ C . J+1 =1 =1+
10. [Fraction x,+] * Simplify theratio
2% g = 40cm:2m
21. [Substitution]
11. [Percentages] * _ If w= 2,
Biofuel for ajet engine 1°- [indices/ Square Roots find the value of
Is made up of 50% 52 = 17-w
jet A, 47.5% jatropha 3
and the rest is algae.
What p(_arcentage Of the 16. [Order of Operations] * 22. [Equations]
biofuel is
algae? 30-15+3= -14=20

page 9 L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]
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23.

24,

25.

206.

27.

28.

[Coordinates]

What are the coordinates of the points
K, L and M on this Cartesian plane?

XA
LS

.
:4-3-9 1_10 2%4§(

Sl M
A
? v
K(C , )L(C , )M(C ., )

[Units of Measurement / Time] *

85km= m

[Perimeter] *

Calculate the perimeter of the

trapezium.
b 64 mm

26 mm

mm

[Area / Volume] *

Find the area of the shaded shape.

[Round to the nearest whole number.]

| —

sg. units

I~

[Shapes]

Without measuring, would you
estimate that the size of thisangle
is closer to 100° or to 110°?

[Location / Transformation]

Draw the axes of symmetry of these
shapes. Circle the shapes that are both
horizontally and vertically symmetrical.

29.

30.

31

32.

33.

[Statistics] *
Approximately what percentage of the

world’'s operable nuclear plants can be
found in the USA?

A) 15% B)25% C)30% D)50%
Commercial B Uranium
Power Plants g 4 2013
toJuly 2013 million Gwh|  %e | Number | GWe | Number | GWe tonnes
World 235 19 432|372 | 68 | 71 | 66512
USA 077 | 11 [100| 99 | 3 | 3.6 | 18983
GWh = Gigawatt hour

GWe = Gigawatts electric

[Probability]

A coinisflipped 3 times. Given that
order matters, (i.e. HTH = THH) find

the size of the sample space.
[Complete the table.]

Outcomes (sample space)
Head Head

Head
Head
Head
Head

[Problem Solving 1] *

Rearrange the letters of each set of
words to form three mathematical
terms. {LOVE SUM}, {LARGE CENT},
{BURN ME}

[Problem Solving 2] *

A donkey (D) and amule (M) were
carrying sacks of apples. The donkey
groaned so the mule said to him: “Why
are you complaining? If you gave me
one sack, | would have twice as many
asyou; if | gave you one of my sacks,
then we would have equal loads.” How
many sacks was each carrying? [According
to legend, Euclid wasthe

D= M =

author of this puzzle.]

[Problem Solving 3] *

A whole number is multiplied by six.
What must the answer be?
A) asguare number

B) aprime number

C) anumber divisible by 12
D) amultiple of 3

8.1.4 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

24111[16] 9 [15]22] 7 [18]20]13]| MATHS MATE

+ 2
2. [- Whole Numbers to 10]

25128(10114|1217/26| 9 | 11|23

_5 Term 1 - Sheet 5
3. [x Whole Numbers to 12] Name: ...
4 12 8 11 5 6 3 7 10 9 Due Date: ........... Y Y

X 7 Parent’s Signature:

4. [+ Whole Numbers to 12]

66| 30| 60|24 | 36| 42| 72| 54 | 18 | A8 | |<amme e e crir st svery sngoros:

you get knocked down by the traffic from both sides.

- 6 Margaret Thatcher
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
_ o 6 In which number does
6043 + 2875 Simplify = the digit 2 have greater
value? A) 1042

6. [Large Number x,+] * 13. [Integers] * B) 204

1826 x 100 = Mauna L oa, avolcanic

gg#g;aig;g r?]a;Nbgl\I/’e 18. [Multiples / Factors / Prime’s)] %
_ 5000 m below sealevel.

7. [Decimal +-] * What is the total height

487 —0.95 = of Mauna Loa?

19. [Number Patterns]
m Complete the table:

Lamborghini

8. [Decimal x,+]

hwy distance 4 1
8x09-= 14. [Rates / Ratios] * (k) 5|9 35

. fuel usage - 9 3 1 5
At full speed, adownhill [{es)
skier travels at 31 my/s.

At this speed how far

9. [Fraction +,-] * will the skier travel 20. [E-xpress-ions]
23 _14_ in 60 seconds? Simplify
7 7 3X + X
7 7
m

10 . 21. [Substitution]
. [Fraction x,+] * If G = —6’

E F 12 ka = 15. [Indices / Square Roots] find the value of
O g 1
4 10" = c+12
16. [Order of Operations] * 22. [Equations]

11. [Percentages]

65% of $100=|$ (54-6) + 6= % 8 = 40

page 11 L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]
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23.

24,

25.

26.

27.

28.

[Coordinates]

Plot point A at coordinates (8,4) on
this Cartesian plane.

YA

¥0i 234567 8X

[Units of Measurement / Time] *

5kg = g

[Perimeter] *

Calculate the perimeter of the rectangle.

7 f u
—+ +15cm
ml ]

55cm

cm

[Area / Volume] *

Using A = lw find the area of the
rectangle.

\
10 mm
] v

mm?

-—50mMm—

[Shapes]
Draw a trapezium marking the pair of
parallel sides.

[Location / Transformation]

Using the scale, how long is the marked
distance along L ouisiana Avenue?

Corpus
Christi
B

Del Mar
College-
East Campus

0 0.25 0.5 km

29.

30.

31

32.

33.

[Statistics]

Which age group has an equal number

of male and female users of Facebook?
Age and gender distribution of Facebook users in Australia (June 2013)

P Age “““““
i

55+ i
45- 54 His

735- 44 |
25-34 :
718-24

13-17 Il

[
i
1

|
|
05 0 0 05 1 15 2

2 15
Million Users

[Probability]

How many different outcomes are
possibleif you can choose between a
busor atrain, full fare or concession
and you can travel in the morning (am)
or the afternoon (pm)? [Complete thetree
diagram.] Start

type bus

fare f

(f.c)
time

[Problem Solving 1]

On a standard die, opposite [ ;
sidesaddto 7. Fill in
the spaces so that, when 213
folded, the net will form
astandard die.

[Problem Solving 2] *

Cassandra had a pair of mice. The
female gave birth to eight pups, four
male and four female. In the next term,
the five female mice each gave birth to
eight pups, again four male and four
female. If, inthe next term, each
female does the same and no mice die,
how many mice, male and female, will
Cassandra now have?

male = female =

[Problem Solving 3] *

Four darts are thrown at this dartboard.
If al four darts hit the board, how many

different point (/E\

totals are possible?
8.1.5 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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10.

11.

[+ Whole Numbers to 10]

4 [17]15]3]10] 2] 6 [ 9 [18]11] MATHS MATE
+ 7
[- Whole Numbers to 10]
251131282210 6 19|11 24|27
1 Term 1 - Sheet 6
[x Whole Numbers to 12] Name: ...
7 10 5 9 12 6 4 3 8 11 Due Date: ........... Y Y
X 6 Parent’s Signature:
[+ Whole Numbers to 12]
56 88 48 64 96 40 72 80 24 32 ﬁl:tog(inzlrrrr:ri \t/\lgzifhe average is what keeps the
=8 Wit . Winans
[Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
_ o4 In which number does
0824+ 1503 Simplify  — the digit 5 have greater
vaue? A) 590
B) 7059
[Large Number x,+] % 13. [Integers.] * - )
What isthe time
307 x 1000 = difference in hours 18. [Multiples / Factors / Primes] *
ae;‘l’v"efg”'y,')oscow and I 230 divisible by 4?
. O _g E _g w < % 2 =
[Decimal +,-] * <§g%§g%§§§§%§

274-83=

[Decimal x,+] *

54x 6=

[Fraction +,-] *

1£+21=
4 4

[Fraction x,+] *

1

—of $120 =
3

[Percentages] *

25% of $300 =

< !

' ! ! ! | | | | ' s -

<+ +

14.

15.

16.

+ + t t t t t t t t -

[Number Patterns]

Complete the table:

Recycled and composted waste/person

[Rates / Ratios] *

A raindrop fallsat 200 m
per minute. How long

will it take araindropto  20.  [Expressions]

travel 6000 m?

min

No. of days 1 2 3 4 5 6

Weight (kg)

07(14|21|28

[Indices / Square Roots]

10° =

[Order of Operations] *

(8-3)x 7=

21

22.

Simplify
OXY — Xy

[Substitution] =

If k= -5,

find the value of
-7k

[Equations]

x 6 =-60

page 13
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23.

24,

25.

26.

27.

28.

[Coordinates]

Plot the following points on this
Cartesian plane:

A at coordinates (2,3)

B at coordinates (-2,0)

C at coordinates (0,-3)

YA

4

1
4324001 23 4%

2

-3

4

Y

[Units of Measurement / Time]
2000 g = kg

[Perimeter] *

Calculate the perimeter of an equilateral
triangle with aside
length of 30 mm.

mm

[Area / Volume] *

Using Area = base x height, find the
area of the parallelogram.

2¢cm

-—3cm——

cm?

[Shapes]

Use arrows to show the
pair of parallel linesin
this diagram.

[Location / Transformation]

Using the scale, estimate to the nearest
100 metres the marked distance from

Place des Pyramides to PI ace du Louvre.

vre, ris
nce
I | “ \5\:\—7\: _
/ ‘w Musee du I.ouvre e
‘ lais d
@ yraml@ a%g u“ Iﬂaedu

29.

30.

31

32.

33.

[Statistics]
Which tsunami caused the most deaths
per wave height?

Deaths Deadliest Tsunamis Height (m)
350000;1 _______________ (_S_ip_c_e_‘l_l_I?Q____ ___________I;I 35
300000 |f~--=--mmmmmmmmm oo oo | f--130
250000 |~ —=-—mmmmmm e --{25
200000 |----mmmmm e fmmm e ] --{20
150000 f-----mmmmmef oo B --415
100000 f--—oog----)  N\z----s—g---- -{10

50000 |- -
[ 1 vl [
1498 1707 1782 1883 2004
Japan Japan Taiwan Indonesia Indonesia
[Probability]

How many different insurance options
does a company need to consider when
offering rates according to age (<25,
25-50, >50), marital status (de facto,
single) and gender (male, female)?
[Complete the tree diagram.]

Start
Age <25
Marital status d
(d,s)
Gender
(m, f)

[Problem Solving 1]

If you divide a number by 6, add 2,
multiply by 3 and subtract 5, the result
Is10. What is the number?

[Problem Solving 2] *

How many different flags with 3 stripes
are possible, using the coloursred (R),
blue (B) and yellow (Y)? Each colour
may be used more than once in each
flag [Consider YYY as 3 stripes)]

i N

[Problem Solving 3] *

A number that is equal to the sum of al
its factors, other than itself, isa

perfect number.

For example: 6=1+2+3

Therefore 6 is a perfect number. Which

=] ‘ (. WS e of the numbers 20, 24, 28 and 32 is also
;gr,:;—ﬁ w_ ] ‘M”T“f“'““"e} (I aperfect number?
Musée du Louvre T e e
300m m
8.1.6 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

25[11] 9 [22]26]19]24]17]10] 3 || MATHS MATE
+ 4
2. [- Whole Numbers to 10]
2711211311824 111(15/22|29| 10
_6 Term 1 - Sheet 7
3. [x Whole Numbers to 12] Name: ...
9 6 5 11 4 8 10 1 7 3 Due Date: ........... Y Y
X 11 Parent’s Signature:
4. [+ Whole Numbers to 12]
14 42 7 63 35 70 28 49 21 56 g::n(:)LFS(I)_ZJV-HE\Y\e/E;:mg put together falls apart
N 7 Et())(;gﬁgror later; usually sooner.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
_ o 12 In which number does
9273 +1490 Simplify  — the digit 7 have greater
value? A) 9.751
6. iLarce Number sl 5 B) 7.09
' [Large Number x.+] 13. [Integers] *
349 x 600 = What isthe difference 18. [Multiples / Factors / Primes]
Iboe\;[vvgte?etmhggrlagtng and List all the factors of 24
In ascending order.
recorded in Edinburgh? J
7. [Decimal +,-] * @.|§....|§....|2....|§....|§....|§... |§.>
8.62 — 3.59 = IoTw hiTgh
o 19. [Number Patterns]
C Complete the table:
Waste generation/person
8. [Decimal x,+] *
14. [rates/Ratios] * No.ofdays| 1 | 2 | 3 | 4 | 5 | 6
361x3= On average, women Weight (kg)| 2.1 | 4.2 | 6.3 | 8.4
walk at a speed of
_ 80 m/min. At thisrate
9. [Fraction +-] * how far would awoman  20.  [Expressions]
i+2i= walk in an hour? Simplify
12 12 50-4q+¢
m
10. [Fraction x,+] % 21. [Substitution] *
g of 30 M = 15. [indices / Square Roots] _Ifrn%Th_el\/Sa’l ue of
S 10° = q
3
11. [Percentages] *
5% of $5.00 = 16. [order of Operations] * 22. [Equations]
¢ 36+(9-3) = -5 x =45
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23 [Coordinates] 29 [Statistics]
Draw crosses at the following points: Of the musicals shown, how many
(0,-6), (1,-4), (2,-2), (3,0), (4,2), (5,4) have the same number of musical
1) numbersinAct |?
[ JAct | Musicals = Act Il
4 Jesus Christ ‘ ‘ ‘ : :
. Superstar [ — -
; Godspell ‘
T T | :
‘1 R Cats B
4ot 2345 6% Rl ——
-2 Phantom of
L3 the Opera ‘ ‘ ‘ ‘ | i
4 0O 3 6 9 12 15 18
L5 Musical Numbers
-6
Y
. babili
24. [Units of Measurement / Time] 30 [Pro ‘:i ity] . . ..
During an orienteering activity, Lara
4t = kg must decide whether to walk or runin
onedirection (N, S, E or W) for 3 km
25, [Perimeter] * _ or 5 km. How many different options
Calculate the perimeter of the does Larahave? [complete the tree diagram.]
parallelogram. Start
} /\
/W( | /W?’ mm movement walk run
27 mm mm _—
26. [Area / Volume] * direction
Using A = bh find the area of the distance
parallelogram.
; 31. [Problem Solving 1] *
110 mm .
C How many green tiles are needed to go
b = 48 mm mm?2 around 10 white tiles using the pattern
shown?
27. [Shapes]
Draw an isosceles acute-angled triangle | | | | |
marking the congruent sides and
congruent angles. Lwhitetile 2 white tiles 3 white tiles
32. [Problem Solving 2] * 1 0
28. [Location / Transformation] Fill in the maglc
. square. [Every row, 4 6
A plane flies from Manaus to Salvador. column and diagonal has s 14
Using the scale, how far did the plane the same sum]
travel? 819 |15
ch Guiana BRAZII!I_orth 0 1000 2000 km 33 [Problem Solving 3] "
Ablantic A clay target team has a surprising
Ly ata number of one-legged members. All
: ) these members wear aboot. Of the
o remainder of the twenty-two members,
Salvador
only half choose to wear boots, the
Corumba
o Do South others go barefoot. How many boots
iy Atlantic
>Fiodeaneio Ocean are worn by the team?
SOM%I
5‘5525 Porto Alegre km
8.1.7 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]
23[19] 8 [20] 5 [12]17][16]24] 11 ]| MATHS MATE
+ 6
2. [- Whole Numbers to 10]
1112311216 (25|24(10|29|17| 8
_4 Term 1 - Sheet 8
3. [x Whole Numbers to 12] Name: ...
7 3 l 10 9 4 8 2 5 6 Due Date: ........... Y Y
X 1 Parent’s Signature:
4. [+ Whole Numbers to 12]
12 22 18 8 10 14 24 16 20 6 S:)JIS;I;:/ -O;W-LH\AEIeVZES :ff, often followed by two off
weeks.
+ 2
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
_ .30 In which number does
4362 + 2081 Simplify - the digit 6 have greater
vaue? A) 0.687
B) 1.467
6. [Large Number x,+] *
13. [Integers] *
50 x 1500 = The lowest p0| ntin 18. [Multiples / Factors / Primes]
Chinais Turpan Pendi at List all the factors of 54
—-154 m and the highest in ascending order.
7. [Decimal +] * point is Mt Everest at
8850 m. What isthe
9.64 - 5.37 = height difference?
m 19. [Number Patterns]
8. [ecimal xa] % Complete the table: e
8x4.072 = 14. [Rates / Ratios] * sides 3 4 5 6 7
A space shuttle travelled  [352™" 180 540 | 720
720000 km in 24 hours
9. [Fraction +,-] ¥ inorbit. What wasits
4& _ 29 — average speed’? 20. [Expressions]
7 7 km/h Simplify
2S— S+ 6S
10. [Féadion X+ _ 21. [substitution] 5
= of 100 L = 15. [Indices / Square Roots] If r = _4,
10 10° = find the value of
3r-9
11. [Percentages] *
30% of $6.00 = 16. [Order of Operations] * 22.  [Equations]
$ I9x (11-7) = 9 x =-36
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23.

24,

25.

26.

27.

28.

[Coordinates]
Draw crosses at the following points:
(-6,3), (-4,1), (-2,-1), (0,-3), (2,-5)

\

— N W s~ O CD‘S

A

o O B WD =

Y

[Units of Measurement / Time]

7.2kg = g

[Perimeter] *

Calculate the perimeter of the trapezium.

25 mm L 24 mm

B

mm

31 mm
[Area / Volume] *

Find the area of the parallelogram.

1.1cm

cm?

[Shapes]
Match each angle to its description:

obtuse
:’ reflex
P acute

[Location / Transformation]

Using the scale, how
long is the marked -AO
distance from Vientiane
(Laos) to Phnom Penh
(Cambodia)?

0 1000 km

29.

30.

31

. [Problem Solving 2] *

. [Problem Solving 3] *

8.1.8 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013

[Statistics]

Which city hasthe greatest difference
between unit and house prices?

A unit Unit & house prices 2012 (median) {'t house

500 -

400

300

200 -l

[Probability]

How many different 3-digit numbers
less than 500 can be made using the
digits 3, 4, 5 and 6 if the digits can be
used only once? [complete the tree diagram.]

Start

T

First digit 3
_—
Second digit 4

Third digit

[Problem Solving 1] *

Igor wants to fit his photo, 3 cm high
and 2 cm wide, in the newspaper.

The available spaceis 9 cm high. If the
photo is enlarged proportionally to fit in
the newspaper, what width will the
photo become?

cm

Find the value of the product:
3 57 9 11 13

— XX —X—X—X-—-=
5 7 9 11 13 15

The sum of the digits of 2014 is7. How
many whole numbers between 100 and
999 have 9 as the sum of their
digits?
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Sheet 5
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1. [+ Whole Numbers to 10]

8 [13] 1 [10]12] 51417 9 [16]| MATHS MATE

+3
2. [- Whole Numbers to 10]

14119/13|15| 7 |12/20|16| 8 |11

_7 Term 2 - Sheet 1
3 [x Whole Numbers to 12] Name: ...
11 6 3 lO 8 7 4 9 12 5 Due Date: ........... Y Y
X 10 Parent’s Signature:

4. [+ Whole Numbers to 12]

110[ 44 | 66 | 33| 99 | 55| 22 | 77 |121] 88 || mevrior e orcom st e somsines e

when it is too late.

- 11 W.G.P.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
2BA4 _ 1347 = Complete the equivalent Expressin numerals:
fractions: two thousand, one
2 hundred and
5° 15 fifteen
6.  [Large Number x,+] % 13. [integers]
3150 + 5= FI’O&T\ thet 2 5 ladies 18. [Multiples / Factors / Primes] *
00d cour L 4 homew :
et [ sl ecommn
7 . elevator up 1 2 men's & children’s )
- [Decimal +,-] * 3levelsand 1 osmetics/shoes
i 0food court
36.8 + 54.8 = then down 6.
Atwhich 17l
!’]e\O/VSI'?IS Lill i -3 carpark (C) 19. [Number Patterns]
_ ' Complete the pattern:
8. [Decimal x,+]
3 3312
054 +-6= 16" 4" N

14. [Rates / Ratios] *

The Shortfin Mako shark 20. [Expressions]

9. (Fracion s # can swim 50 km per Write as an expression:
' . * Pour. At this rate how The sum of aand ¢
o_ L _ ar canit swimin half an
9 hour?
km
10. [Fraction x,+] 15. [indices / Square Roots] 21. ﬁugsiituioi%*and ‘i g
5+1= V100 = find the value of —
3 e+f
16. [Order of Operations] *
11, [Percentages] * 9-20+ (2 + 3) = 22. [IZEquations] *
75% of 480 = 3 of =18
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23.

24,

25.

26.

27.

[Coordinates]

These dots, if joined, would form aline.
A point on this line has ay-coordinate
of -5. What isthe x-coordinate of this
point?

YA

I I I S )

,—5)

“ (

[Units of Measurement / Time] *

210 m=

cm

[Perimeter] *

What is the perimeter of one hexagonal
section of honeycomb?

o

5mm L

mm

[Area / Volume] *
Using Area= % x base x height, find the
area of the triangle.

A

3cm

N

Y

5cm

A

cm?

[Shapes]
Sketch the top view of this solid.

|

top view

28.

29.

30.

31

32.

33.

[Location / Transformation]
By how many degrees must this shape

be rotated to first match the original
position?

[Statistics]

For which level in the Australian Public
Service do females make up 70% of the
workers?

Australian Public Service (APS) Employees

O H 1 = 1 1 1 1 1 1 [
R (2 e T s e N et e s et i I e
L T0H 1 o et e el ol ] e ™
% 60 (1 t—1 [ o e o i e e R
L 1 S e O e B S [ e e s IO s I S
SAN || L T O s I S B S (N s I S
o 30 ,,,,, -] [y PSSR A RN I [ AR (e SRR B N SR B SO

200t 1 ot Bl et ol e el b

100 1 1 111 11—/

0Entry 2 3 4 5 6 Executive 2 Senior 2 3

Level 1 Level 1 Executive
Position > Level 1

O Male

(I Female

[Probability]

A 52 card deck of playing cardsis
shuffled and one card is dealt from the
top of the deck. What is the probability

that it will be a Queen’? [Give your answer as a
fraction in simplest form.]

[Problem Solving 1] *

How many numbers between 1 and 400
aredivisible by 7?

[Problem Solving 2] *

Find the last digit of 6%.

[Problem Solving 3] *

Pink rose plants are on sale for $3 each
and white ones for $5 each. A gardener
decidesto buy 13 in total, choosing
more white plants than pink. If the
gardener spent $55, how many
white plants did he buy?

8.2.1 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

2 [16[20] 9 [15]14]11] 8 | 7 [13]| MATHS MATE

+5
2. [- Whole Numbers to 10]

412211011518 3 |21| 7 | 16|19

_3 Term 2 - Sheet 2
3 [x Whole Numbers to 12] Name: ...,
5 12 6 11 7 8 3 9 4 10 Due Date: ........... Y Y

X 2 Parent’s Signature:

4. [+ Whole Numbers to 12]

70140 |30 60|90 120 80 | 50 | 110[100] | seot g soo g o ssc e

number is that if you get a crank call you know it is

- 10 from a friend.
5. [Large Number +,-] * 13. [Integers] 17. [Exploring Numbers]
3495 _ 863 = Starting from ![";Z:tform Express in numerals:
the platform, [} twenty-four thousand
Clem rides g and fifty
6.  [Large Number x,=] * 5 m downthe  logoundiel
mine shaft, and -1
3054 + 6= then continues :; %\o’f@ 18. [Multiples / Factors / Primes] *
2 m further :
-4 List al the common
down. Where S
{. [Decimal +-] * isClemnow? 1V~ factors of 32 and 80.
2.78 + 3.97 =
m
8. [Decimal x,+] * 19. [Number Patterns]
189+ 7= 14. [Rates/ Ratios] * Complete the pattern:
A tortoise, or land turtle, 0.2, 0.6, 1.8, 5.4,
9. [Fraction +,-] * might move 150 min —
3 half an hour. What is
3- 15 = thisspeed in metresper  20.  [Expressions]
minute? : Write as an expression:
10. {Fraction x,+] * m/min A number that is equal to
" 4 80 less than x
° 15. [Indices / Square Roots]
11. [Percentages] * \/176 = 21. [Substitution]
35% of 80 = Ift=15andu=9,
find the value of
12. [Decimals / Fractions / Percents] 16 [Order of Operations] * t-u
gqourpvpalleéﬁtthe @ _ § 38 = (4 + 15) +9= 22. [Ifquations] *
fractions: 48 2% =-2
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23.

[Coordinates]

What are the coordinates of point V that
will make STUV arectangle?

YA

s

J

4

; \

2 \

‘ \
65432 1,00 3 4 B\ 6 X

2

3 pradl]

4 v

5

el U

\

24,

[Units of Measurement / Time]

54m=

mm

25.

[Perimeter] *

What is the perimeter of the Australian
50 cent coin? [Hint: 12 sides]

mm

26. [Area / Volume] *
Using A = = bh find the area of the
triangle.
- b=8cm >
3cm /
cm?
27. [Shapes]

Sketch the front view of this solid.

28.

29.

30.

31.

32.

33.

[Location / Transformation]
By how many degrees must this shape

be rotated to first match the original
position?

[Statistics]

Which capital city has 20% of their
households housing a single resident?

_ Selecggd Capjtal Cit_y Housg_holds

| [l Single parent/children
-[] Couple/children

- [ Couple

- [Single

- B Group house

Percentage
D oo [=3
o o o

S
o

N
o O

Hobart MelbourneCanberra Sydney Brishane

[Probability]

If aletter tile is chosen at random, find
the probability of choosing a consonant.

[Give your answer as afraction in simplest form.]

m g mlg =
-m@ @®@

[Problem Solving 1] *
The sum of five consecutive, whole

numbersis40. What are thefive
numbers?

[Problem Solving 2] *

Fifteen toothpicks are used to make
three hexagons. Find the minimum
number of extra toothpicks required to
extend the pattern to seven hexagons.
/N
\_/\
/N\_/
\_/

[Problem Solving 3] *

Madeline invests $3000. At the end of
each year she receives 10% interest on
the total balance for that year. What is
her balance at the end
of the third year? $
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1. [+ Whole Numbers to 10]
1] 5]8/[12]16] 9 [13][17]10]14] MATHS MATE
+2
2. [- Whole Numbers to 10]
16/ 9 |13|25/17/12/10|21|14| 8
_6 Term 2 - Sheet 3
3. [x Whole Numbers to 12] Name: ...
6 12 7 11 3 8 10 5 9 4 Due Date: ........... Y Y
X 5 Parent’s Signature:
4. [+ Whole Numbers to 12]
21 9 15 30 36 18 33 27 24 6 ﬁ:\i[Edi(:E(L}‘:zgv:Zitone who continually makes
N 3 glr;)tgoress, no matter how slow.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
4901 — 512 = Complete the equivalent Write the number 20300
fractions: in words.
2 _6_—
6. [Large Number x,+] * 9 54
1736 - 7 = 13. lintegers] * 18. [Multiple? / Factors./ Primes]
You bought $2000 worth g&%’g;?&?&??ﬁcﬂ
of shares. After thefirst of 40 and 727
7. [Decimal +-] % year you lost $650 but '
after the second year
9.38+4.71 = you gained $1250. 19
What isthe current -+ [Number Patterns]
value of your shares? Complete the pattern:
8. [Decimal x,+]
265.9 + 100 = $ 2%6,64,16,4,1
14. [Rrates/ Ratios] * 20. [Expressions]
?agteggtoéjnds are tn_e Write as an expression:
0gs, reaching A number that is equal to
9. [Fraction +] * speeds of 70 km/h. At forty times m <
2 this rate how long does it
2-1—= take a greyhound to run
S 14 km? :
min
21. [Substitution]
10. [Fracti30n x,+] * 15. [indices / Square Roots] If v=18andw= 2,
L9 _ find the value of
2+ = V144 = v
16. [Order of Operations] * w
11 - (14 - 8) +2= 22. [Equations]

11.

[Percentages] *

30% of 15 =

1
= = -4
5 %
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23.

24,

25.

26.

27.

[Coordinates]
What are the coordinates of point H that
will make EFGH a square?

YA
NG

— PN\

A

o
o
§-N
<Y

'
B oo
m

[Units of Measurement / Time]

700 m =

km

[Perimeter] *

What is the perimeter of the Flatiron
Building in New York?

m
[Area / Volume] *
Find the area of the right-angled
triangle.
50 mm
17 mm
mm?
[Shapes]

Draw the top view of this solid.
top

28.

29.

30.

31

32.

33.

Q%

[Location / Transformation]

By how many degrees must this shape
be rotated to first match the original
position?

[Statistics]

Which skiing region has the greatest
percentage of their slopes classified as
intermediate?

Australian Skiing Regions

—_
o
o

Slope classification
[T Beginner
[[] Intermediate
[l Advanced

S D o
o o o
' I |

Pecentage of slopes

n
o
'

0
Q Q Q S
D Y o
N\ S LSS
© \) < ‘z;\\é‘\\ @ \&\\e\

N
X o

[Probability]
When the spinner is spun once, what is
the probability of spinning a consonant?

[Give your answer as afraction in simplest form.]

[Problem Solving 1] *

If you have 5¢, 20¢ and 50¢ coins, in
how many ways can you make
up exactly $1?

[Problem Solving 2] *

A family of kittens likesto climb our
fruit trees. If one kitten climbs on each
tree, there is one kitten without atree.
If two kittens climb on each tree, there
Is one unoccupied tree. How many
kittens and how many trees are there?

kittens = trees =

[Problem Solving 3] *

A bowl of M&Msison atable. Sam
takes away half of the M&Ms. Nick
then takes one third of what is|eft.
Eight or half of the remainder are red
M&Ms. How many M&Ms
were there originally?
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1. [+ Whole Numbers to 10]

10/ 6] 58[12] 9 11| 7| 3 [14]| MATHS MATE

+ 8
2. [- Whole Numbers to 10]

1411111/7|16|23|10|12|29|18| 15

~10 Term 2 - Sheet 4
3. [x Whole Numbers to 12] Name: ...
4 6 12 10 7 3 11 8 9 5 Due Date: ........... Y Y

X 7 Parent’s Signature:

4. [+ Whole Numbers to 12]

954|451 90108 72| 27 | 63| 99 | 36 | 81 || e e compmionotisiom

St. Augustine

+9
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
3 _ Complete the equivalent Write the number
o173 - 1628 = fractions: 605000 in words.
s_d_n
6. [Large Number x,+] * 6 O
7344 + 9 = 13. [integers] * 18. [Multiples / Factors / Primes]
From a cruising depth of What is the highest
75 m below sealevel common factor (HCF) of
7. [Decimal +-] * (BSL) the Nautilus 18 and 45?
descended to 105 m
5.9+ 769 = BSL and then rose to
80 mBSL. What isthe 19. [Number Patterns]
total vertical distance the Complete the pattern:
8. [Decimal x,+] * Nautilus 97.2.32.4. 10.8. 3.6
) m Ly e .0, 0.0,
548.7 + 1000 = travelled
14. [Rates / Ratios] * —
Ared kangaroo J umps 20. [Expressions]
along at 40 km/h. Write as an expression:
7 would it take to jump 26 h &
4-2— = 2 km? . morethan y
L min
10. [Fraction x,+] % 15. [Indices / Square Roots] 21 [Substitution] *
3 J121 = Ifa=0andb =38,
6+g= find the value of
_ 7ab
16. [Order of Operations] *
11 [(Percentages] * 90 = (9 + 6) x 3= 22. [LIlEquations] *
8% of 50 = - X =16
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23.

24,

25.

26.

27.

28.

[Coordinates]

What are the coordinates of point S that
will make PQRS a parallelogram?

YA
4
P
1
4 3\2 1,001 2 3 4%
\
\ -2
2
Ql, R
¥

[Units of Measurement / Time] *

350cm = m

[Perimeter] *

What is the perimeter of the playing
surface of arectangular billiard table?

® ° @
o8 14
cfop 4A4Mm
‘877
@ ® ®
28m

[Area / Volume] *
Find the area of the obtuse-angled

[Shapes]
Draw the side view of this solid.

side view

[Location / Transformation]

This compass shows that you are facing

northeast. How many degrees clockwise

must you turn to face northwest?

29.

30.

31

32.

33.

Amsterdam 1928

Mexico City 1968

[Statistics]

In which of the Olympic games shown
did females make up closest to one
quarter of the participants?

Participants at Olympic Games COO

London 1908

London 1948
1 T [ [ T [ [ [ [ | |

Seoul 1988
I O

Beijing 2008

20 40 60 80 100

0
B vae Percentage [ Fernale

[Probability]

When the spinner is spun once, what is
the probability of spinning aprime
number? [Giveyour
answer as afractionin
simplest form.]

[Problem Solving 1] *

The computer game Tetrisinvolves
shapes made of four squares. Each
square must share at least one side with
another square. How many different

configurations are there in the game?
[Note: Seediagrams below. If one shape can be rotated to
match another shape, then the shapes are not different.]

Same shapes

_II_I

Different shapes

[Problem Solving 2] *

At a party there were twenty-three
students. Deena danced with six boys,
Chloe with seven, Moirawith eight and
so on for al the girls up to the last girl
Anna, who danced with al the boys.
How many boys were at the
party?

[Problem Solving 3] *

A solid cubeis painted on all 6 faces,
and then it issliced into 27 smaller
cubes. How many of these smaller
cubes are painted on only one face?
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10.

11.

[+ Whole Numbers to 10]

10]13] 9 [21]14]18] 2 [17]15] 26 || MATHS MATE
+ 4
[- Whole Numbers to 10]
1629102317 |11 2425|2218
_9 Term 2 - Sheet 5
[x Whole Numbers to 12] Name: ...
11 4 9 5 12 7 8 10 3 6 Due Date: ........... Y Y
X 12 Parent’s Signature:
[+ Whole Numbers to 12]
24 66 48 72 30 42 54 18 60 36 ﬁ:iz-l\-nl;:o?klr; :‘:Es\ﬁliigtis me. | can sit and look at it
- 6 jzrr:r(r)\irf(.. Jerome
[Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
B Of al thetourist arrivals Round 4826 to the
2530 + 691 = worldwide, 11% are nearest hundred.
destined for France.
Write this percentage as
[Large Number x,+] * adecimal.
43 x 7 = 18. [Multiples / Factors / Primes]
What is the next prime
13. [Integers] * number after 80?
[Decimal +,-] * Confusciuswas bornin
551 BC and died
30.4-185= 72 yearslater. What
year was that? 19. [Number Patterns]
. , Complete the pattern:
[Decimal x,+] *
0.7x 0.6 = 0.1,458|
14. [Rates / Ratios]
[Fraction +,-] * Simplify theratio 20.  [Expressions|
8 2 Choose the like terms:
[;racti:cIJ-n x,%] 15. [indices / Square Roots] 21. [Substitution] *
EX§= 602= Ifh=7and|=3,
find the value of
2h + 2i
[Percentages] *
If a$40 book is reduced 16. [Order of Operations] *
by 25%, what isthe (5 + 9) + (15 - 8) = 22. [Equations] *

sale price?

$

3x

-10=14
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23. [Coordinates] 29. [Statistics] *
Complete the table for thisrule: This table shows the number of
: : countries in each of the world's regions.
No. of hours (x) Distance travelled in km (90x) : .
Find the median of the data.
1 90 x1=90
) World’s regions Countries
3 North America 3
4 South America 12
s Australia/Oceania 15
p Central America/Caribbean 20
Middle East/North Africa 23
24. [Units of Measurement / Time] Asia 27
Africa 47
15L= mL Europe 48

25. [Perimeter] *

Calculate the perimeter of the polygon. 30, [probabilty] *

2 cm Loy, 28 A box of shaped biscuits contains
23 15 squares, 17 triangles, 6 rectangles,
% < 4 diamonds and 8 hexagons. If a
biscuit is chosen at random, what isthe
45 cm probability of choosing a square
cm ONE? [Giveyour answer asafractionin
26. [Area / Volume] * simplest form.]
Using Volume = length x width x height,
find the volume of the rectangular 31. [Problem Solving 1] *
prism. Ninelollies cost less than $10, while ten
6 lollies cost more than $11. How much
does each lolly cost?
Vol =1.cm3 $
5cm
32. [Problem Solving 2] *
3cm cm?3 Alex was counting his coins by 2s.
7 cm Because one coin was left over, he
2. [shapes] counted them by 3s. Again there was

What three-dimensional shape can this one left over so he counted by 4s, then
net be used to make? 5s, then 6s and finally by 7s. Each

, ‘ time there was one left over. Knowing
that Alex did not have more than
800 coins, exactly how
‘ ‘ many coins did he have?

T T

33. [Problem Solving 3] *

28. [Location / Transformation] Pierrede Fer rnat1 a 17th Century French
Redraw this shape after reflecting it in lawyer, stated that any whole number
the horizontal dotted line. can be written as the sum of four or less

square numbers.
For example: 15=32+224+124+ 12
P Express 61 as such a sum.
61 =
8.2.5 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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10.

11.

[+ Whole Numbers to 10]
15/18] 3| 9 [24][22[10]16]11] 7 || MATHS MATE
+ 6
[- Whole Numbers to 10]
11117151229 ,48|14| 16|10 | 23
_8 Term 2 - Sheet 6
[x Whole Numbers to 12] Name: ...
10 11 7 3 12 6 8 4 9 5 Due Date: ........... Y Y
X 9 Parent’s Signature:
[+ Whole Numbers to 12]
96 132 48 144 84 36 72 120 60 108 SSOWLE?VZL:EQ\;VEEEh must take a long run.
Danish Proverb
+ 12
[Large Number +,-] * 12. [Decimals / Fractions / Percents] 18. [Multiples / Factors / Primes]
2453 + 389 = Write0.09 as a List al the prime
percentage. numbers between 50
and 60.
[Large Number x,+] * 13 [Integers]
162 x 9= Roman civilisation
began in 509 BC and
ended 985 years | ater. 19
[Decimal +,] What year was that? . [Number Patterns]
Complete the pattern:
27.3-96=
1,5, 13, 25, 41,
[Decimal x,+] 14. [Rates / Ratios]
14 % 0.8 = Simplify theratio
10:30:45 20. [Expressions]
[Fraction +,-] % Choose the like terms:
9 7 g, 29, 2h
E - E = 15. [indices / Square Roots]
50° =
[Fraction x,+]
l X E = 16. [Order of Operations] * 21 ﬁuzsmugona]nz 4o 2
3 8 (8+4x7)+18= find the value of
-2c-&d
[Percentages] *
Inastorea$70 bagis
marked ‘ 30% off’. 17. [Exploring Numbers]
What isthe sale price Round 908 to the 22. [Equations] *
of the bag? nearest ten.
$ 40 - 3 % =25
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23.

24,

25.

206.

27.

28.

[Coordinates]

Complete the table of valuesfor the
linear ruley = 10 - x

x y=10-x
5| y=10-5=5 5
6 | y=
7
8
9
10
[Units of Measurement / Time] *
600 mL = L
[Perimeter] *
Calculate the perimeter of the polygon.
6 cm
L]
+2cm
-
3cm

cm

[Area / Volume] *
Using V = Iwh find the volume of the
rectangular prism.

6 Vol =1cm3

3cm
4cm
8cm cm 3
[Shapes]
What three-dimensional shape can this
net be used to make?
[Location / Transformation]

Redraw this shape after rotating it 180°
about the point O.

29.

30.

31

32.

33.

[Statistics] *

This table shows the number of storeys
of the ten tallest buildingsin
Melbourne. Find the median and mode
of the data.

Melbourne - Tallest Buildings (Number of Storeys)
50 | 52 |52 |52 |53 | 53 | 54 | 63 | 78 | 91
median = mode =
[Probability]

A modern piano has 52 white keys and
36 black keys. What is the probability
of pressing awhite key? [Giveyour answer asa
fraction in simplest form.]

T

[Problem Solving 1] *

Move just one match to make this
equation correct.

N =11=\/

[Problem Solving 2]

Complete the
multiplication table.

21 27

25

28

[Problem Solving 3] *

Andrea, Belinda and Chloe spent the
evening with their husbands. Eugene
was seen with hiswife dining at

Sake Out but they were not the couple
that went off in alimousine. Belinda
went to see Rainbo 1V but not with
David. Andreaand her husband
travelled by taxi and it was neither
Flavian nor Eugene who was seen with
his wife on atandem bike. Who was it
then who had a fun night at the

Water World fun park, and how did they
get there?
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10.

11.

[+ Whole Numbers to 10]
5[22] 9 [31]10] 4 [16]13]19]17]| MATHS MATE
+ 7
[- Whole Numbers to 10]
26/ 13|10| 5| 822|279 21|24
_4 Term 2 - Sheet 7
[x Whole Numbers to 12] Name: ...
8 3 11 6 7 9 10 12 4 5 Due Date: ........... Y Y
X 11 Parent’s Signature:
[+ Whole Numbers to 12]
15 55 35 50 60 30 45 40 20 25 ggg/i nocft;:: (\)A:i\[/—:rﬁt you hear, and only half of
+5 P
[Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
4983 + 2976 = Write0.6 asa Round 23509 to the
percentage. nearest thousand.
[Large Number x,+] *
_ 13. [Integers] *
5034 x 6 = Oxygen melts at =218°C. 18. [Multiples / Factors / Primes]
Heat it afurther 35°C, List thefirst 3 odd
[Decimal +,-] % and it boils. At what composite numbers,
temperature does
8.02 - 0.08 = oxygen boil?
°C
[Decimal x,+] * 19. [Number Patterns]
25x%x0.9= Complete the pattern:
14. [Rates / Ratios] 261 25, 201 19, 141 o
[Fraction +,-] * S mpl Ify theratio
Z _ § _ 42 - 28:21 20. [Expressions]
8 8 Choose the like terms:
w, 3, w, 3vw
[Fraction x,+]
4 2 15. [Indices / Square Roots]
— X — =
5 3 7(')2 = 21 [Substitution]
Ifd=5ande= 3,
[Percentages] * find the value of
In astore a$75 shirt is 4de - 3e
labelled ‘ Save 40%’ . 16. [Order of Operations]
What is the sale price 17-(9-12+3) = 22. [Equations] *

of the shirt?

$

12 + 20 x =712
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23. [Coordinates] 29. [Statistics] *
Complete the table of valuesfor the This table shows the number of ski runs
linear functiony = 5x at selected resortsin Colorado. Find the
» P P mean (average) and range of the data.
0 |7=5x0=0 0 Resorts in Colorado - ski runs
; e 5 | 15 | 54 [ 8 | 90 | 105
5 mean = range =
4
5
24. [Units of Measurement / Time] 30. [Probability]
Jane randomly opens a 24-page
10500 mL = L magazine. Find the probability of
25.  [Perimeter] * opening a page that isapri me
Calculate the perimeter of the polygon. F‘Uﬂ“bff- [Giveyour answer asafractionin
56 mm simplest form.]

31 [Problem Solving 1] *

24 mm Which of the numbers 4, 5, 6, 7 or 8,
when placed as a denominator in the

fraction 1—,)7 givesaresult closest | 1+
mm 0237 -

50 mm

20 mm

26. [Area / Volume] *
Using V = I*h find the volume of the

square prism.

. 32. [Problem Solving 2] *

’ Cross out the fewest numbers in thislist

: so that none of the numbers that are | eft
T T are twice the value of any other number
T o inthelist.

Z J mm

| =25 mm mm?3 1 2 3 4 5 6 7 8

27, [Shapes] 9 10 11 12 13 14 15 16

What three-dimensional shape can this 17 18 19 20 21 22 23 24
net be used to make?

How many numbers must you
Cross out?

33. [Problem Solving 3] *

The number 75 can be expressed as the
sum of two or more consecutive

- itive integersin five different ways.
Redraw this parallelogram after pos : : .
trandating it 7 units right and 3 units One suich sequence begins with 13:
down. 13+14+15+16+17=75
With what number does each of the
other four sequences begin?

28. [Location / Transformation]
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1. [+ Whole Numbers to 10]

12118] 9 [15] 6 [13]17/11]20] 4 || MATHS MATE

+9
2. [- Whole Numbers to 10]

27111182312 24|29|16|25| 10

_5 Term 2 - Sheet 8
3. [x Whole Numbers to 12] Name: ...
12 4 7 11 3 10 6 5 9 8 Due Date: ........... Y Y

X 4 Parent’s Signature:

4. [+ Whole Numbers to 12]

3288|956 |80[40| 72|48 |96 | 64 | 24 ||\, e ctve s st samens e

wind of it.

- 8 Lorene Workman
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
B The Australian Round 16244 to the
6304 + 3296 - population accounts for nearest hundred.
0.3% of the world's
B.  [Large Number x.] % population. Write this
percentage as a
2109 x 8 = decimal. 18. [Multiples / Factors / Primes]
Choose the composite
numbers:
7 [Decimal +,] % 13. [Integers] *
At itslowest point, the 29, 30, 31, 32, 33, 34,
6.27 - 4.88 = Euro tunnel is 115 m 35, 36, 37

below sealevel. At this
point, the tunnel is50 m

8. [ecimal x+] * below the seabed. How
1.3x0.7= deep is the ocean? 19. [Number Patterns]
m Complete the pattern:
9. [Fraction +,-] ¥ 1,8 27,64, -y
l + l = 14. [R.ates / I.?atios] ' 20. [Expressions]
12 1 Simplify theratio Choose the like terms:
32:56:40 - 2ab, 2a, 2b, ab
10. [Fraction x,+]
1.2_
3 11 15. [indices / Square Roots] 21 [substitution] *
802= Iff=21andg=—2,
11. [Percentages] * find the value of
In astore a $300 f-7
camerais discounted by 16. [Order of Operations] g
15_0/0. What isthe sale (9 - 2) X (8 + 3) = 22. [Equations]
price of the
camera? $ 7% (15 - )=21
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23.

24,

25.

26.

1cm

27.

28.

[Coordinates]

Complete the table of valuesfor the
linear functiony = x - 3

y=x-3

y=0-3=-3

y=

(O N S I SR N Nl S

[Units of Measurement / Time] *

12.8L =

[Perimeter] *

mL

Calculate the perimeter of the polygon.

[Area / Volume] *
Find the volume of the rectangular

mm

prism.
- P 5 25cm
6cm
3
cm
[Shapes]

On this net of a cube, aface
ismarked B. Label the
opposite facewith aT.

[Location / Transformation]

Redraw this trapezium after reflecting it
in the vertical dotted line.

—
T

29.

30.

31

32.

33.

[Statistics] *

The table shows the number of
calories per serving of some raw
vegetables. Find the mean (average)
and range of the data.

Vegetable Calories

lettuce 4
cucumber 8
mushroom 15
zucchini 20
tomato 22
carrot 25
red capsicum 27/
green peas 117
mean = range =
[Probability]

A CD player holds 5 CDs, and each disc
has 12 songs. If the CDs are changed
randomly, find the probability that your
favourite song is played first.

[Give your answer as afraction.]

[Problem Solving 1] *

Find two whole numbers whose sum is
166 and differenceis 32.

[Problem Solving 2] *

On Martha's 9th birthday, her mother
made a cake which had the digits0to 9
around theedgein red icing. Using the
guidelines below, her mother cut the
cake into 3 pieces so that the numbers
on each piece added to the same total.
Mark the cuts. What fraction of the
whole cake was the largest piece?

[Problem Solving 3] *

One day Barney caught 100 kg of fish.
The total weight of the three largest fish
was 35 kg and total weight of the three
smallest fish was 25 kg. How many
fish did Barney catch
altogether?
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1. [+ Whole Numbers to 10]
2 [ 6 [13]-14/10] 8 [16]25] 9 [-17]| MATHS MATE
+ 10
2. [- Whole Numbers to 10]
19|-5/26| 8 |11|12(-10 13|1/7|14
_3 Term 3 - Sheet 1
3. [x Whole Numbers to 12] Name: ...
6 9 3 11 4 12 7 10 8 5 Due Date: ........... Y Y
X 8 Parent’s Signature:
4. [+ Whole Numbers to 12]
108 63 27 90 45 81 72 99 36 54 gll\fvz-ly-sE:oFyZ-l‘JE l\)/i[—:siKWhat you plant now, you will
- 9 Og Mandino.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 18. [Multiples / Factors / Primes]
24543 — 6078 = The tongue of a Express 56 as a product

6. [Large Number x,+] *

865 x 17 = 3
1. [Decimal +,-] *

86.14 + 5.98 = 14.
8. [Decimal x,+] *

12+-04-=
9. [Fraction +,-] *

2§ + 1§ _ 15.

8 8
10. [Fraction x,+] *
16.
E+4=
5

11.

[Percentages] *

A computer is priced at
$2000. Whichisthe
better deal ?

A) Save 30%
B) Take $500 off

17.

chameleon isone and a
half times its body
length. Write thisas
adecimal.

[Integers]

6+ (-2) =

[Rates / Ratios] *

Which ratio is equivalent 19.

to 3:47?
A) 9:8
B) 18:24
C) 9:16

[Indices / Square Roots]

V2500 =

[Order of Operations]

(7-2)7=

[Exploring Numbers]
Place in order from
largest to smallest:

0.204, 0.04, 0.24, 0.42,
0.024

20.

21

22.

of prime numbers by
completing the factor

tree.
56

= X X

= X X X

[Number Patterns]

Complete the pattern:
0,0,1,3,6,

[Expressions]

There are x boys and

y girls at the camp. How
many children are at the
camp altogether?

[Express your answer in terms of
xandy.]

[Substitution]

Used = vt to find the
distance (d) where

v=105andt=3
[Equations]
35+ =43
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Authorised for the use of: CRAIG MCCAUGHAN

23.

24,

25.

26.

27.

28.

[Coordinates]

YA
4

- N W,

A

o
o
4N
<Y

AN SR

Y
The line above shows:
A) All pointswherex =3

B) All pointswherey =3
C) All pointswherex+y=3

[Units of Measurement / Time]

120 s=

min

[Perimeter] *

Express all measurementsin
millimetres and then calculate the
perimeter of the kite.

15 mm 4cm

mm

[Area / Volume] *
Find the area of the shaded polygon.

| —T ™~
L —T ~

Sg. units

[Shapes]
Find the value of x°.

48° X°

[Location / Transformation]

Redraw this quadrilateral after
reflecting it in the horizontal dotted
line and then trandlating it 5 units to the
left.

29.

30.

31

32.

33.

[Statistics]

For how many years is the normal
human heart rate expected to be
100 beats per minute?

[Round your answer to the nearest whole number.]

Normal Human Heart Rate

R
g 140 \ _____________________________________________________________________________________
;120 \
2100
g 80
a 20
"r'& 1 1 1 1 1
8 00 30 60 920 120 150
age (months)
0 5 10
age (years)
years

[Probability]

‘A dieisrolled and a number less than
5 comes up.’

Which letter A to G best represents the
probability of the event? —
Impossible ~— Unlikely — Eﬂgally — Likely— Certain Qm

ikely
1 2 3 4 5

L o
(2]
L o

6 1
E

6
A B c D F G

[Problem Solving 1] *

Of the five horsesin arace Alfie
finished 3 lengths ahead of Charlie, Flo
finished 5 lengths ahead of Dolly, Alfie
finished 4 lengths behind Bobby and
Dolly finished 4 lengths behind Alfie.
What is the finishing position
of Flo?

[Problem Solving 2] *

Every day | swim the same number of
lapsin my pool. After completing a
certain number of laps, | have swum
20% of the total, and after one more lap
| have completed 25% of the total.

How many lapsdo | swim each

day?
[Problem Solving 3] *

If you calculated the following sum
9+ 99 + 999 + 9999 + 99999 + ....
where the last number to be added
consists of nine digits of 9, how many
times would the digit 1 appear
in the answer?
[Hint: 9=10-1,99=100-1, ..]

8.3.1 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]

16]-3] 7 2[14]-8]15/20] 9 [11]| MATHS MATE

+ 2
2. [- Whole Numbers to 10]

211-4|15/12| 7 |-8/10|13| 9 |16

_7 Term 3 - Sheet 2
3. [x Whole Numbers to 12] Name: ...
12 7 11 4 10 3 9 8 5 6 Due Date: ........... Y Y

X 10 Parent’s Signature:

4. [+ Whole Numbers to 12]

121211303315 |27 | 18|36 | 24| 9 || ne sieectvernee

+3
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes]
84000 — 3782 = Change 3 to adecimal. Express 72 as a product
4 of prime numbers by
completing the factor
tree.
6. [Large Number x,+] * 13 [Integers] - 2 .
243 x 36 = -(+2= = /8\ x )
= X X X
7. [Decimal +,-] * [ by i 1
1.69 + 24.5 14. [Rates / Ratios] * = X X X X
OISO = Complete the equivalent
8 . , ratios: 19. [Number Patterns]
- [Peomalxel? 20:15=4" Complete the pattern:
06-03= 80, 77, 71, 62, 50,
9. [Fraction +,-] * )
7 7 15. [indices / Square Roots] 20.  [Expressions| .
S, Enzo bought n movie
10 10 14400 = tickets for $12 each.
How much did he pay in
10. [Fraction x,+] * total? [Expressyour answer in
2 termsof n.]
5 +9= 16. [oOrder of Operations] *
6+(9-3)°= o
11. [Percentages] * ( ) 21, [SUbSt'tUt'on]Z* )
Acarispricedat UseAA= Ifto find the
$12000. Whichisthe 7 _ . area (A) of asquare
better deal ? . [Exp (.)rlng Numbfers] g wherel = 10
A) 10% off Which fraction has
) 00 greater value?

B) $1500 cash back 5 3 22. [Equations]
R 6.4 - -5
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23.

24,

25.

26.

27.

28.

29.

[Coordinates]
Draw aline through all the points where
the x-coordinate is 2 more than the

y-coordinate (line of equationy = x — 2).
YA

S~

- N W

A

o
o
S
=Y

FOCI RN

Y

[Units of Measurement / Time] *

5h=

min

[Perimeter] *

Express all measurements in centimetres
and then calculate the perimeter of the

polygon.
] u

ww qT

25 mm

3cm cm

[Area / Volume] *

Find the area of the pentagonal name tag.

«— A5 MM — <15 mm>

|
T

30 mm

[Shapes] *
Find the value of x°.

[Location / Transformation]

Redraw this shape after rotating it 180°
about the point O and then translating it
2 units up.

/

\/

30.

31

32.

33.

[Statistics]

In which year was there the greatest
difference in GDP growth between
Botswana and Kenya?

Botswana & Kenya - GDP growth

= =
o8 | L\ ~~
S o \. I
L 6 o/ \ / ——0
T4 T \ - ——
> [ |
g g \Y /
52 A\ /
a
0
(it S R \ -------- /- --------------------------------------
? \ /
-4 \\ /
6 \Vi
8 i
‘04 ‘05 ‘06 ‘07 ‘08 ‘09 ‘10 ‘11 12 13
year
e Kenya

—— Botswana

[Probability]

Which event ismost unlikely to

happen?

A) drawing an Ace from a deck of 52
playing cards

B) rolling a6 on astandard die

C) being runover by a
stampeding el ephant

[Problem Solving 1] *
The base 5 number 2135 is equivaent
to. 2x52+1x5%4+3x50
=5 + 5 + 3
=58inbase 10 [5 x 101 + 8 x 109]

What is 3105 equal toin
base 10?

[Problem Solving 2]

Use each number
between 1 and 9
once to complete
the equationsin
this square.

[In each row and column the
order of operations must be
followed.]

[Problem Solving 3] *

The telephone numbersin asmall town
have two digits. They run from 00 to
99. Of the 100 possible numbers, those
that become smaller when reversed are
not used, i.e. 21 isnot used. What is
the maximum number of telephone
numbers this town could have?

8.3.2 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013

page 42

=) [#)[z)[z) [2)[z] [2] (] G [ |



Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]
15/-6/10[13[19] 7 [12] 4 | 8 [-11]| MATHS MATE
+9

2. [- Whole Numbers to 10]

10 513|-9/22(11,14|-8| 7 |16
_6 Term 3 - Sheet 3
3. [x Whole Numbers to 12] Name: ...
11 4 9 6 8 12 7 10 3 5 Due Date: ........... Y Y
X 3 Parent’s Signature:

4. [+ Whole Numbers to 12]

48 132 120 72 144 108 96 36 60 84 S:fv;ﬁ;z:fevﬁg, we must apply. Willing is not
N 12 Eré(;l:ﬁ:; we must do.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes]
76000 — 1953 = Write 0.4 asafractionin Express 96 as a product
simplest form. of prime numbers by
completing the factor
tree. %

6. [Large Number x,+] * — —

4679 x 12 = 13. [Integers] = o 8\ X P
-1+9= = x x 2 x

7. [Decimal +,-] * = | X x\ X | X x\
33.8+9= 14. [Rates / Ratios] *

Comp| ete the equiva| ent 19. [Number Patterns]

8. [Decimal x,+] * ratios: 12 3 Compl ete the pattern:
75+05= 16 =—— 45,33, 23, 15,9,

9. [Fraction +,-] * 20. [Expressions]

1; + 2; = 15. [Indices / Square Roots] ﬁ\aslfagl!: gl’g;NySZ CI_TO\;C\V/ery
8100 = much did it grow?

10. [Fraction x,+] % cm
3
; +9= 16. [Order of Operatitz)ns] * 21, [subsitution] *

2x(20-9)° = bh -

11. [Percentages] * ( ) Use A= ) to find the
Shoes are priced at area (A) of atriangle
$120. Whichisthe 17. [Exploring Numbers] 3 whereb=4andh=5
better deal 2 Which fraction has
A) 25% discount greater value? _

B) Reduce by i l o E 22. [Equations]
3 10 15 x15=75
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23.

24,

25.

26.

27.

28.

[Coordinates]

Draw aline through all the points where
the x-coordinate and the y-coordinate
add to 2 (line of equation X + y = 2).

YA
4

- N W

A

o
o
EN
<Y

A b L

\ 4

[Units of Measurement / Time]

4min20s= S

[Perimeter] *
Calculate the perimeter of the polygon
in millimetres.

4 cm 50 mm

25cm

40 mm

mm

[Area / Volume] *
Find the area of the polygon.

+ +1cm

cm?

[Shapes] *
Find the value of x°.

XO
57°

[Location / Transformation]

Redraw this rhombus after rotating it
90° anticlockwise about point D and
then reflecting it in the vertical dotted
line.

29.

30.

31

32.

33.

8.3.3© Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013

[Statistics]

In which year was the number of people
at Collingwood home games less than
that of Richmond?

Collingwood & Richmond

(home game attendances)

g 700 000 i

c AN

§ 600 000 ¥

2500000 [ AT g

£ N /N Y

400 000 N [~ N
300 000
200 000
100 000

0

»
-
H
H
»

1995 2000 2005 2010

Year

2015

---a-- Collingwood
—o— Richmond

[Probability]
Which has a 50% chance of success?
A) drawing avowel from the letters
AtoZ

selecting an even number from the
numbers 10 to 19

choosing adiamond from a
deck of 52 playing cards

B)
C)

[Problem Solving 1] *

A number of students are evenly spaced
around acircle. Thefourth student is
directly opposite the tenth student.

How many students are in the
circle?

[Problem Solving 2] *

Two taps drip together at exactly

1:00 pm. Onetap then dripsagain
every 68 seconds while the other tap
continues to drip every 72 seconds. At
what time will the two taps both drip
together again?

¥y

[Problem Solving 3] *
Deduce the 3-digit secret number.

[A cow means a number is correct in value but in the wrong
position. A bull indicates that a number is both correct in
value and in the correct position. i.e. 2 cows and 1 bull would
indicate that all three numbers were correct but two werein
the wrong positions.]

Guess | Secret Number | Cows | Bulls
1st 162 - 1
2nd 175 1 1
3rd 165 1
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Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]
10/-6/21] 8 [13]-19 2 [14] 7 [-15]| MATHS MATE
+ 8
2. [- Whole Numbers to 10]
11/ 5(19| 6 |-10] 3 |18| 7 |-12/ 14
_5 Term 3 - Sheet 4
3. [x Whole Numbers to 12] Name: ...
8 11 7 3 5 10 6 4 12 9 Due Date: ........... Y Y
X 6 Parent’s Signature:
4. [+ Whole Numbers to 12]
35 56 77 63 28 84 70 21 42 49 S:)Jsos-:-tir(')sFT-[:‘:srﬁf?heory - Buses, trains and
aeroplanes never run late; the timetables are simply
- 7 optimistic.
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes]
52076 — 21897 = Write 0.08 as afraction Express 192 as a product
in ssimplest form. of prime numbers by
completing the factor
tree.
6. [Large Number x,+] * o 192 ~—
3074 x 28 = 13. [Integers] = _ 12\ x /\
-5+ (-1) = =3 x x 4 x
7. [Decimal +,-] * : 0T T T
49.96 + 17.84 = 14. [Rates / Ratios] *
Compl aete the equival ent 19. [Number Patterns]
_ ratios: Complete the pattern:
8. [Decimal x,+]
58+02 = l= __ 36, 25, 16, 9, o
10 90
9. [Fraction +,-] * 20. EIE_;:)ressionts] had
: € canteen
ZE + 1§ _ 15. [Indices / Square Roots] S saugages and sold 25 at
6 6 J12100 = lunchtime. How many
sausages were left?
10. [Fraction x,+]
4
—+2= 16. [Order of Operations] *
7 (13 _ 3)2 5= 21 [Substitution] =
11. [Percentages] * UseP = 2(| + W) to find
A gold ring costs $320. the perimeter (P) of a
Which is the better 17. [Exploring Numbers] raf]cc;[avcg_l e4Where =7
deal? Placein order from -
A) Save 15% . smallest to largest: 9o _
B) Reduce by Z § E E . [Equations]
4 ' 5 ’ 3 y y 1.2 x = 48
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23. [Coordinates]

29.

Draw aline through all the points where
the x-coordinate is equal to the

y-coordinate (line of equation X = y).

YA

o

- N W

A

o
N
N
=<V

A d v o

\ 4

24. [Units of Measurement / Time]

11 h= min
3

25. [Perimeter] *

30.

Calculate the perimeter of the polygon

in centimetres. 40 mm

25 mm

31

1.5cm

cm

26. [Area / Volume] *

Find the area of the polygon.

U]

_____________________

2¢cm

32.

27. [Shapes] *
Find the value of x°.

15°
o/ 55°

28. [Location / Transformation]

33.

Redraw this trapezium after reflecting it
in the vertical dotted line and then

trandating it 2 units up.

Altitude - The Moon . SPEED IN CIRCULAR EARTH ORBIT

[Statistics]

Which space object orbits the earth at
750 km/s?

[Probability] =

Which event is most likely to happen?

A) selecting avowel from the word
RADIATION

B) turning ‘heads on aflipped coin

C) picking ablue ticket from a hat
containing 8 red and 5 blue tickets

[Problem Solving 1] *

How many different rectangles can you
make using 12 toothpicks?

[All 12 toothpicks must be used each time.]

eg.

[Problem Solving 2] *

Mrs Nicholasis buying Christmas
presents for her five children to give to
one another. If each child givesa
present to each of the others, how
many presents must she buy?

[Problem Solving 3] *

You areto go from A to B, always
moving right or down aong the lines.
On how many different paths can you

gO? [The number of paths from A to various intersections
has been included.]

Ao—1
1 2
1 3
1

eB
\One path from A to this intersection
8.3.4 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]

g8 [-2[16] 1 [10]-1325|24]-7] 9 || MATHS MATE

+4
2. [- Whole Numbers to 10]

101221 5|9 126/13|24|17|-1|18

_8 Term 3 - Sheet 5
3. [x Whole Numbers to 12] Name: ...
7 3 8 5 4 2 6 10 9 11 Due Date: ........... Y Y

X 9 Parent’s Signature:

4. [+ Whole Numbers to 12]

2014025501535 | 5 | 45| 60 | 30 || comontrspng wituesr dounasore o mor

than the most violent storm.

+5 P.K. Shaw
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
28790 + 5360 = Change % toa Express 45 as a product

of its prime factors.

percentage.

45 =

13. [Integers]

6. [Large Number x,+] *
4-(-6)=
6550 + 50 =
19. [Number Patterns]
14. [Rates/Ratios] * Complete the pattern:
7. [Decimal +-] Which is cheaper per 17,12, 7, 2,
Issue? —_— —
86.14 - 5.98 = A) $63for an 18-issue
subscription
B) $72for a24-issue _
8. [Decimal x,+] subscri pt| on 20. [E.xpress.lons]
Simplify
0.08 x 0.3 = h+i+i
15. [Indices / Square Roots]
9. [Fraction +,-] * 15
13 2_ -
10 5 21. [substitution] *
16. [Order of Operations] * 1I‘Tnlél=th7e’ value of
10. [Fraction x,+] * 8x6-2x4%= 2k?
3 1
— X — =
73 17. [Exploring Numbers]
Round 4.645 to the 29 o
11 [Percentages] £ neal'eSt WhOIe number. - [Fquations] *
2, Solvefor x:
669 of 240 = x+10=15 | X=
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23.

24,

25.

26.

27.

28.

[Coordinates]

Lucy walksto thelibrary. How long
doesit take her to walk 700 metres?

1000

o]
o
o

distance (m)
(o))
o
o

N

o

S
T~

A

/

N
o
o

/]

7

0
02 46 8101214161820222426
time (min)

min

[Units of Measurement / Time]
It took Leo Tolstoy six yearsto write
War and Peace. How many monthsis
this? [Leo Tolstoy - Russian

months

author, 1828-1910]

[Perimeter] *

The perimeter of this scalenetriangleis
11.5 cm. Find the missing side length.

?cm
55cm

[Area / Volume] *
Using Area= %(base a + base b) x height

find the area of the trapezium.
|< b=7cm =|

cm

2cm

|

~——a=4cm—

cm?

[Shapes] *
Find the value of x°.

539
64°\/ x°

[Location / Transformation]

Redraw the rectangle after doubling the
coordinates of its vertices.

YA
-6

LI I R B |
- N w s~ o

A

yo1 2 7 8 9 10 11 12 13 14 15 16 17 18X

29.

30.

31

32.

33.

[Statistics]

Which metal makes up 6% of the one
dollar coin?

[Probability] *
What is the probability that a student

chosen at random does not do any

readi ng’) [Give your answer as afraction in simplest
form.]

Students involved in class activities——
reag,
"%

\é\‘.\“g

Dlaying

Venn diagram

[Problem Solving 1] *
What is the smallest positive integer,
greater than 2, that when divided by
3, 4 or 5 leaves aremainder
of 2?

[Problem Solving 2] *

If the average of six numbersis 10, and
five of them are 5, 8, 12, 15 and 17,
what is the sixth number?

[Problem Solving 3] *

For an Olympic gymnastics event, the
three places on the podium were
occupied by Flame, June and Crystal.
The silver medal winner, from New
Zedland, told Flame that it was her
eighteenth birthday today. The
youngest medallist was the
fourteen-year-old June, from China. If
the bronze medal was won by the
sixteen-year-old, who won gold and
what country was she from?

8.3.5 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]
8 [11]17]-4] 6 | 9 [-1923]10]-12]| MATHS MATE
+5
2. [- Whole Numbers to 10]
19| 5 (22/18(36|10(2/7|-11] 3 |14
_4 Term 3 - Sheet 6
3. [x Whole Numbers to 12] Name: ...
11 6 12 9 7 4 8 5 10 3 Due Date: ........... Y Y
X 11 Parent’s Signature:
4. [+ Whole Numbers to 12]
9 18 6 21 30 12 27 3 15 24 Salljti;EisO; ;I:ESY;Er:(abit which grows on you.
P. K. Shaw
+ 3
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
56254 + 2846 — Change lioa Express 16 as a product
4 of its prime factors.
per centage.
16 =
6. [Large Number x,+] * 13. E\I))nteg;rs]
10800 + 900 = T
19. [Number Patterns]
14. [Rates/Ratios] * Compl etethe pattern:
7. [Decimal +,-] * Which is cheaper per _28, -22. -16, —10,
24.83 - 4.97 = song?
A) $12for 15 songs L
B) $9for 10 songs
8 [Decimalx.+] * 20. [Expressions]
0.7x041= Simplify
15. [indices / Square Roots] * J+]+ k-k+k
3
9. [Fraction +,-] * 3=
5_5_
6 12 16. [Order of Operations] * 21. [Substitution] =
If x=4
(13-8+2)*= . ’
10. [Fraction x,+] * gﬂzd the value of
7 2 X=X
— X — =
8 3 17. [Exploring Numbers]
Round 7.778 to one
deC| mal pl ace. 22. [Equations] *

11.

[Percentages] *

2% of 80 =

Solvefor c:
c-12=3

C=
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23.

24,

25.

26.

27.

28.

[Coordinates]

This graph shows the height of an
elevator in an eight-storey building.
At how many storeys does the elevator
stop during the 2 minute trip, not
counting the ground floor?

storeys

1
time (min)

[Units of Measurement / Time]

Ruppell’s Griffon Vulture, the highest
flying bird, can reach an altitude of
11300 m. Expressthis
height in kilometres.

[Perimeter] *

The perimeter of this quadrilateral is
150 mm. Find the missing side length.
40 mm

km

30 mm

?2mm

55 mm

mm

[Area / Volume] *
Using Area= %x diagonal a x diagonal b
find the area of the rhombus.

T
IS
H IS
<8 S
cg
i v
|<— b=45mm —»‘ 5
mm
[Shapes] *

Find the value of x°.

< » 0 -
40°

[Location / Transformation]

Redraw the triangle after halving the
coordinates of its vertices.

29.

30.

31

32.

33.

[Statistics]
Which two animals account for 70% of
al pets?

Pet owners’ choice
¢34 dogs
[ Jats
birds
[ horses
B other

[Probability]

What is the probability that a student
chosen at random plays baseball and

soccer, but not hockey? [Giveyour answer asa
fraction in simplest form.]

Students involved in holiday sports ——
hOc,(,@
o2

er
<
(,)0

baseb’d\\

Venn diagram

[Problem Solving 1] *

Usethedigits 1, 3, 5 and 7, once each,
to complete the multiplication. Make
the largest possible answer. ]

]

L

[Problem Solving 2] *

A solid 10 cm cubeiscut into 1 cm
cubes. These smaller cubes are then
used to make the largest possible cube
that looks solid from the outside, but is
hollow inside. How many of the
origina 1 cm cubes are NOT used to
make this larger cube?

[Problem Solving 3] *
How many rectangles are there in this

n diagram of atennis court?

-5

-4

-3

,2 ///

Hq E——— [ e |

¥01 2 34567 8 91011121314 15 16 17 18X 8.3.6 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
page 50 B



Authorised for the use of: CRAIG MCCAUGHAN

1. [+ Whole Numbers to 10]

11]25]14]17]-2] 8 [10]23]-9]16]| MATHS MATE

+3
2. [- Whole Numbers to 10]

13128|11|2712|-20 16| 9 |-4| 30

_9 Term 3 - Sheet 7
3 [x Whole Numbers to 12] Name: ...,
9 3 7 12 8 5 10 11 6 4 Due Date: ........... Y Y

X 7 Parent’s Signature:

4. [+ Whole Numbers to 12]

4088|3264 |24 56|80 | 48 | 16 | 72 || o e comssnivassitree e tousciy

crowd.

+8
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
14569 + 9518 = InAustralia 74% of the Express 44 as a product
land cannot support of its prime factors.
agriculture. Writethis
percentage as a fraction 44 =
in ssimplest form.
6. [Large Number x,+] *
8160 + 12 =
13. [integers] 19. [Number Patterns]
-3-4= Complete the pattern:
7. [Decimal +,-] * —44, —35, —26, —17,
14. [Rates / Ratios] *
864-09= Which is the best buy? o
A) a2 kg bag of apples
at $7.50
8.  [Decimal x,+] * B) 2 kg of loose apples 20
at $395 per kg . [Expressions]
Pg +Pg+ mMp - pg+mp
9.  [Fraction +-] * 15. [indices / Square Roots] *
6
16. [order of Operations] * 21 Isubsittion *
4x(6+4)+22= Ifm=3,
10. [Fraction x,+] * find Ehe value of
E y E ~ -4m
11 9 17. [Exploring Numbers]
Round 1.4549 to two
decimal places. 22. [Equations] *
11. [Percentages] * Solve for a:

200%0f90= _2+a=10 a=
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23.

24,

25.

26.

27.

28.

[Coordinates]

What distance is Va from school when
her brother Johnny stops to wait for his
friend?

Distance from Home

600 school| ~~°°~ Johnny
E < —— Val
77

O P
% 400 p
2 7
T 200(—+

A

II/
home e — % 10
time (min) m

[Units of Measurement / Time] *

Some butterflies beat their wings at a
rate of 850 beats per second. Isthis
more or less than 1000000 beats

per hour?

[Perimeter] *

The perimeter of this quadrilateral is
166 mm. Find the missing side length.

73 mm 2mm

10 mm

50 mm mm

[Area / Volume] *

Using A = ~(a + b)h find the area of the
trapezium. 2

16 mm 53 mm

17 mm

[Shapes] *
Find the value of x°.

XO

36° 54°

[Location / Transformation]

Redraw the parallelogram after
multiplying the coordinates of its
vertices by 3.

\

L85 a o

yo1 2 7 8 9 10 11 12 13 14 15 16 17 18X

29.

30.

31

32.

33.

[Statistics]

Approximately what percentage of
vegetation fires were deliberately lit?

A) 5% B) 15%

C) 20% D) 25%

[ Accidental Vegetation fires
Suspicious in Australia
[ Deliberate (by cause)

B8 Natural
[ Spot
Il oOther

4

—~—

[Probability]

What is the probability that a student
chosen at random from Mr Thompson's
class does only Italian and Woodwork?

[Give your answer as afraction in simplest form.]

Students in Mr Thompson’s Year 8 Class
lta//;g,)

%odwo‘\(‘

Venn diagram

[Problem Solving 1] *

A stud farm has 24 horses. One quarter
are black, two thirds of the remainder
are brown, and the rest are evenly
divided between grey and white.
How many horses are white?

[Problem Solving 2] *

A fence, 3 sectionslong, requires
4 posts and 6 rails, as shown. How
many posts and rails are required to
build a fence around a rectangular yard,
which is 6 sections long and 3 sections
wide?

8 N |

I N

rals =

pOStS =

[Problem Solving 3] *

A 3rd grade maths test included this
rather tough challenge. Can you solve

1t?

If 5:3-4 I

B 2%8=2 §

§ 5%x1=6 i

fand 6+3=3 find the value of
1%7=7 :

B o oo o o oo oo oo o oo oo oo oo oo o o o
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1. [+ Whole Numbers to 10]
1316 22] 7 [24]10]-19/-8] 5 | 21]| MATHS MATE
+7
2. [- Whole Numbers to 10]
24| 71 1116|23|-9/30|12|-28 15
_ Term 3 - Sheet 8
3. [x Whole Numbers to 12] Name: ...
8 10 4 9 6 3 11 5 7 12 Due Date: ........... Y Y
X 5 Parent’s Signature:
4. [+ Whole Numbers to 12]
132 44 55 99 110 33 66 77 121 88 '?eue(r)\:e(r)i(;r:‘:rrr/]?‘zureIknow the value of a
dollar, that's why | asked for fifty.”
=11
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 17. [Exploring Numbers]
_ In 2013, nearly 16% of Round 0.0475 to three
45672 + 2988 = Australian wheat exports decimal places.
went to South Korea.
Write this percentage as
afraction in smplest
6.  [Large Number x,+] form. 18. [Multiples / Factors / Primes] %
37200 = 15 = Express 120 as a product
of its prime factors.
7. [Decimal +-] * 13. [integers] 120 =
97.35 - 8.6 = -5-(-17)=
19. [Number Patterns]
Complete the pattern:
8. [Decimal xo] 14 [Rates/ Ratios] * -1, -9, -17, -25,
Which isthe best buy? —
1.03x0.9= A) a250 g block of
chocolate at $4.50 ~ 20. [Expressions]
B) a400 g block of Simplify
9. [Fraction +-] * chocolate at $6.00 ab+ab-bc-ab+bc
1 11
—t — =
4 20
21. [Substitution] *
15. [Indices / Square Roots] If s= 5,
10 (Fraction 1 * 50 _ find the value of
1 2 s?-9
—_— X — =
12 9 4
16. [Order of Operations] * 29
2= . [Equations] *
11. [Perc§ntages] S 2x(1+9)x 3"~ Sgl;?/g:‘sor r:
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23.

24,

25.

26.

27.

28.

[Coordinates]

A labrador and a bulldog are running
after aball. After how many metres
does the labrador overtake the bulldog?

€ Running Distance
‘/’ /

A
7

labrador
bulldog

o

'I’ |
A

N W A
o O

distance (m)

5
\
N\

o
o
[=2]

2

3
time (s)

[Units of Measurement / Time]

The standard golf ball has a mass of
45 g. How many golf balls are
there in abag weighing 1.8 kg?

[Perimeter] *

The perimeter of this regular heptagon
1s84 mm. What isthe length of a side?

?mm

mm

[Area / Volume] *

Using A= 1ab find the area of the
rhombus.
T

S
S
N
N
2

|<743 mm—»‘

[Shapes] *
Find the value of x°.
XO

30°
XO

[Location / Transformation]

Redraw the shape after halving the
coordinates of its vertices.

YA

-8

T T T T T T
- N W s~ 01O

A

yo1 2 7 8 9 10 11 12 13 14 15 16 17 18X

29.

30.

31

32.

33.

[Statistics]

Which fuel contributed a smaller
proportion of carbon dioxide (CO2)
emissionsin 2013 than in 1973?

World C02 emissions by fuel

LY

1973 2013

] coal/peat
Joil
Il gas

[Probability] =
What is the probability that a person
chosen at random does not travel by
bus? [Give your answer as afraction in simplest form.]
People surveyed about city transport —

Venn diagram

[Problem Solving 1] *
If the total area of the shapeis 150 cm?

and all the squares are congruent, find
the perimeter of the shape.

cm

[Problem Solving 2] *

Place the numbers 1 to 7 in the circles
so that the sum of each row (horizontal,
vertical and diagonal) is 12.

()

/

[Problem Solving 3] #*

A mathstest has two problems. The
first was solved by 70% of the students.
The second was solved by 60%. Every
student solved at least one of the
problems. Nine students solved both
problems. How many students
took the test?

8.3.8 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

o -24 8 [26]13] 7 [11] 2 [10]-15]| MATHS MATE

+ 8
2. [- Whole Numbers to 10]

1411 125(12|-9| 7 |30|13| 8 |-26

—6 Term 4 - Sheet 1
3. [x Whole Numbers to 12] Name: ...
7 11 5 3 6 —4 9 12 10 8 Due Date: ........... Y Y
X 4 Parent’s Signature:

4. [+ Whole Numbers to 12]

36|54 |81 |108| 63| 72| 45 |=27| 9 | 0 || e e marsoors st e s st e s

believes he knows everything.

- 9 Rossiter
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] 17. [Exploring Numbers]
923 + 405 + 312 = Complete the table: Choose the whole

numbers from thislist:

Decimal | Fraction | Percent 5
-16, 43, -, -0.97, 200
0.03 7
6. [Large Number x,+] *
142 x 120 =
13. [integers] 18. [Multiples / Factors / Primes]
8x (-9) = Express 27 as a product
7.  [Decimal +-] % of its prime factors using
index notation.
37.85+5+09= .
14. [Rates / Ratios] * 27 _
Lightning reaches a _
temperature four times 19
) . [Number Patterns] *
8. Decimalx1 x gﬂffataﬁg_thﬂéh&?&‘?o of Find the 13th term in the
0.06 + 0.2 = the sun’s surface to pattern:
lightning temperature. 18, 17, 16, 15, 14, ...
9. [Fraction +,-] :
4 1 _ 20. [Expressions]
5 3 Simplify
15. [indices / Square Roots] * 2S+S+ 4t -t
Between which two
10. - fFraction x.+] * consecutive whole
1 . 4_ numbersdoes~/7 lie? 21 [substiution] *
9 5 If j =6,
and find the value of
11. [Percentages] * 2(3 + J)
Write asapercentagel  16. [order of Operations] * 22.  [Equations] *
5 out of 25. 3% 44 2% D Solvefory:
TOXAt e Xe= 3xy=21 y=

page 57 L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]



Authorised for the use of: CRAIG MCCAUGHAN

23. [Coordinates]

Using the table of values, plot the points
on the Cartesian plane.

[Hint: The first one has been done for you.]

X 5| -3 -1 1 3 5
y 0 1 2 3 4 5

\

- D W A O o<
A -

6 -5-4-32-1w01 2345 6X

24. [Units of Measurement / Time]

Find the time in hours and minutes
between 12:20 and 23:00 the same day.

h min

25. [Perimeter] *

Using C = 2ar where t = 3.14, calculate
the circumference of the circle.

25 mm

mm

26. [Area / Volume] * 29
Using A = r? and t =~ =, find the area
of the circle. 7

K
14 mm 2
} mm

27. [Shapes] *

Find the values of x° and y°.
80° x°
45° =
y
X° = y° =

28.

29.

30.

31

32.

33.

[Location / Transformation]

Redraw this triangle after subtracting
3 units from the x-coordinates and

6 units from the y-coordinates of its
vertices.

\

— P O »

A

S
W
N
o
N
~
o

B S R

[Statistics]

Complete the stem-and-leaf plot for the
data showing the results of the men’s
high jump at the 1956 - 2012 Olympics.
212, 216, 218, 224, 223, 225, 236, 235,
238, 234, 239, 235, 236, 236, 238

Stem | Leaf
2112 Key
23|7 =237 cm
[Probability]

Ten balls numbered 1 to 10 are mixed
together, and then one ball is drawn.
Find the probability that the number

drawn is not amultiple of 3.
[Give your answer as afraction.]

[Problem Solving 1] *

At aconvention for lawyersit was
known that of the 100 present, at |east
one was honest, yet if you met any two
of the lawyers, you could guarantee that
at least one of the two would be
crooked. How many honest
lawyers were present?

[Problem Solving 2] *

What single discount is successive
discounts of 30% and 50%
equivalent to?

[Problem Solving 3] *

Students in amaths test can score0, 1, 2
or 3 marks on each of the six questions.
Thereisonly one way to score 18 and
Six waysto score 17. In how many
ways can a student score 16?

8.4.1 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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1. [+ Whole Numbers to 10]

21] 3 [-10] 2 [19]-6]-27]14] 8 [15]| MATHS MATE

+9
2. [- Whole Numbers to 10]

16|-19 12|28 |-7/33|10|-15 4 | 21

_8 Term 4 - Sheet 2
3. [x Whole Numbers to 12] Name: ...
9 5 12 6 3 lO 11 8 7 —4 Due Date: ........... Y Y

X 12 Parent’s Signature:

4. [+ Whole Numbers to 12]

44124 | 8 |40 |-16| 28 | 12 | 36 |—32| 20 || serimecs e st o roe. trctsmessis o

accomplishment.

- 4 Joseph Mayer
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 17. [Exploring Numbers]
234 + 1409 + 56 + 138 = Complete the table: ]S:hootsrt]a_tr}e slt ptegers
Decimal | Fraction | Percent 1r50m ISTISL.
1 -, 63,-2,1968, 3.14
6. [Large Number x,+] * 5
324 x 260 =
13. [Integers] 18. [Multiples / Factors / Primes] *
7. [Decimal +-] * —6 x (-6) = Express 80 as a product
of its prime factors using
4219+ 1.3+ 0.58 = index notation.
14. [Rates / Ratios] _
8 _ A cricket pitchis 80 -
' [Decmal x=12 ?opr%oa)gglngtﬁl])\l/v%em Find 19. [Number Patterns] *
1.5+0.03= the ratio of length to Find the 15th term in the
i pattern:
9 . width.
. [Fraction +,-] % . 3,13, 23, 33,43, ...
3 1 i
— 4 — =
4 5
20. [Expressions]
10. [Fraction x,+] * 15. [Indices / Square Roots] * Si mp| |fy
5 2 Between which two 5V +2V—V+ 3w
6 5 consecutive whole
numbers does+/10 lie?
11 [Percentages] * 21. [Substitution] *
At the 2008 Beijing and k9
Olympics, 4 of the find the value of
16 medals won by the 3(k - 8)
Netherlands were 16. [Order of Operations]
bronze. What (_4 _ 1)2 xd+1= 22. [Equations] *
percentage is Solvefor f:
this? 5f = 20 f=
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23. [Coordinates] 28. [Location / Transformation]
Using the table of values, plot the points Redraw this trapezium after reflecting it
on the Cartesian plane. in the x-axis.
A

X 1 2 3 4 5 6 — 4

y | 6| 4] -21]0 2 4 ~_ 3
G - i -
|5 43 21,001 2 34X
L4
| 3 2
i -4\7
‘1 01 234556X 29. [Statistics] *
- This stem-and-leaf plot shows the
4 number of annual vacation days for the
5 twelve largest countries in the world.
s Find the median of the data.

Stem | Leaf
24. [Units of Measurement / Time] * 1|35

The movie begins at 6:40 pm and ends 21005578
at 8:30 pm. How long isthe moviein 2 ‘2‘ 57 11010
hours and minutes? -

h min| 30. (pProbabiity] *
A survey of alocal suburb showed that

25. [Perimeter] * 15% of the population was under
0 .
Using C = 2nr wheren ~ 272 calculate \}vzagg?/rgr %g’yﬁsélvc)hgt tirs‘?ﬁgpm ation

the circumference of the circle. probability that a person selected at
random was aged between 12
and 60 years’) [Give your answer as a

® percentage.]
31 [Problem Solving 1] *
U mm John asked Miriam to tell him her age.
Shereplied, “If you divide my age by 3,

96 . you will get the same answer as when
- farea/volume] = _ you divide 75 by my age.”
Using A = oir “ and T = 3.14, find the How old is Miriam?
area of the circle.

32. [Problem Solving 2] *

At noon, Trevor and Kim start running
from the same point. Trevor runs east at
aspeed of 8 km/h and Kim runs west at
aspeed of 6 km/h. At what time will

they be 21 km apart?
mm 2| 33 [Problem Solving 3] *
Each letter represents a ADAM
27. [Shapes] * different digit. If A N D
Find the value of x°. GOD = 605, what + EVE
number does MOVED

MOVED represent?

[\
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1. [+ Whole Numbers to 10]

—gl12]15]-24 9 | 7| 3 [10]-11/ 26 ]| MATHS MATE

+ 6
2. [- Whole Numbers to 10]

26 4 |17 3 |-10/31| 9 |12|15|-18

_7 Term 4 - Sheet 3
3 [x Whole Numbers to 12] Name: ...
9 6 12 8 4 11 —5 3 10 7 Due Date: ........... Y Y

X 9 Parent’s Signature:

4. [+ Whole Numbers to 12]

40| 20| 80 [110) 50 | 90 | 60 | 70 |—30| 120} | amece « e coe: sometivgso g o

by-product in the process of making something else.

- 10 Aldous Huxley
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 17. [Exploring Numbers]
4539 + 216 + 541 = Complete the table: Choose the integers
Doc . from thislist:
ecimal | Fraction | Percent 3
=,5.2,10, -4, 197
80% 6
6. [Large Number x,+] *
107 x 3800 =
13. [Integers]
5x7= 18. [Multiples / Factors / Primes] *
v _ y Express 132 as a product
- [Decimal+] of its prime factors using
2231+49+0248=  14. [Rates/Ratios] * index notation.
Rainforests represent 6% 132 =
of the land on earth, and —
8. [Decimal x.+] % contain half of all living
’ things. Findtheratio of 19 [Number Patterns] *
0.36 +0.6 = rainforests to other Find the 10th term in the
9 habitats. pattern:
. [Fraction +,-] * . 1, 8, 27, 64, ...
3 1 1) ) 1 )
7 + E = 20. [Expressions]
) o 15. [Indices / Square Roots] * S mpl |fy
10 [Tad'%n “l Between which two 2M+3p-p+m
— s —= consecutive whole
2 8 numbers does+/35 lie?
11. [Percentages] * 21. [Substitution] *
An elephant weighs and Ifp=7,
5000 kg. It eats 150 kg find the value of
of food each day. What p(2 + p)
percentage of itsown 16. [Order of Operations] *
weight does an elephant 32+ (B+4) x(-2) = 22. [Equations] *
eat each day? Solve for p:
8p = —64 P=
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23. [Coordinates] 28. [Location / Transformation]
Using the table of values, plot the points Redraw this shape after rotating it
on the Cartesian plane. 90° clockwise about the point of
T 51 21 2101 21 a2 coordinates (6,4).
y 5 3 1 -1 ] 3| -5 7%/1\
YA L7
6 -6
5 L5
4 L4
S -3
2 L2
f H
:53439110 345(§( :,,04345()(87
2 29. [Statistics] *
4 This stem-and-leaf plot shows the mean
annual rainfall for Queenstown, New
v Zedand. Find the median of the data.
Stem | Leaf
24. [Units of Measurement / Time] * 58
The interview began at 13:30 and ended 6|59
at 14:50. How long wasthe interview ; (2) g g 78
in hours and minutes? . ols 700=70 mm
h MIN | 30. [Probavility] *
25.  [Perimeter] * When adieisrolled, what isthe
i 22 i bability of rolling a2 or a5?
Using t = — calculate the circumference probapility or rolling a < or a o:
7 [Give your answer asa

of the tOp of the stool. fraction in simplest form.] %

2lcm

31 [Problem Solving 1] *

Placethedigits 2, 3, 4, 6 and 8 in the
circles so the three numbers on each
line give the same product, and the
product is as small as possible.

cm

26. [Area / Volume] *

Using &t = 3.14 find the area of the

shape.

32. [Problem Solving 2] *
In how many ways can 12 one-dollar
coins be shared between Josh, Frank

cm? and Suzie, if each of them

receives at least 3 coins?

27. [Shapes] * 33. [Problem Solving 3] *

Find the value of x°. Sandrawalked to the top of ahill at a
speed of 2 km/h, turned around and
93° 3 walked down the hill at arate of
145 4 km/h. The whole trip took 6 hours.
579 How many kilometresis
it to the top of the hill? km
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1. [+ Whole Numbers to 10]

31]10]-18/24[19] 2 [-3]17[15] 6 || MATHS MATE

+ 4
2. [- Whole Numbers to 10]

21-271 4 /30| 5119/12|-8|16| 3

_3 Term 4 - Sheet 4
3 [x Whole Numbers to 12] Name: ...,
5 9 —8 6 3 7 11 —4 12 10 Due Date: ........... Y Y

X 8 Parent’s Signature:

4. [+ Whole Numbers to 12]

60 45 40 50 25 35 —55 20 15 _30 g/ﬂgxﬂﬂj t\:\éEle:e had no courage to attempt

anything?

- 5 Vincent Van Gogh
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 17. [Exploring Numbers]
5378 + 1948 + 366 = Complete the table: ]S:hootsrt]e_tr}(_e s!t ptegers
Decimal | Fraction | Percent 1r20m IS
47 = 1850,45,-17,01
6.  [Large Number x,=] * 50
209 x 1500 =
13. [Integers]
-3 x (_9) — 18. [Multiples / Factors / Primes] *
7. [Decimal +] * Efxp;r%s SOOfasta product
14. [Rates / Ratios] * O IS pri me actorsusing
45+ 27 + 2.503 =
InAustraliathe size of a Index notation.
typical home has 300 =
3 , , increased from 220 m?
- [Decimal x,+] to 245 m? over the past 19. [Number Patterns] *
2.8+0.07 = 10 years. Findtheratio Find the 20th term in the
of house area today pattern:
9. [Fraction +,-] * co(r)npared to 10 years i , i , i , i -
5 2 ago. . 20 19 18 17
125 20. [Expressions]
_ . 15. [Indices / Square Roots] * Si mp| |fy
10 [gaCt'oréx’f] ‘ Between which two A0+3+0-2
0 s == consecutive whole
10 5 i
numbers dOeS\/5—O lie? 21. [Substitution]
11. [Percentages] * and Ife=-8
Of the approximately find the value of
225 species of shark, 3(e-1)
18 are dangerous to 16. [Order of Operations] * 22 [Equations] *
humans. What 14 (=2)3 = (=5 + 4) = ' .
percentage is (=2)" = ( ) Sxolvefor X:
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23. [Coordinates] 29. [Statistics] *
Using the table of values, plot the points This stem-and-leaf plot shows the
on the Cartesian plane. number of floors of the twenty tallest
S 12l ol 11 21 3 buildingsin theworld. Find the median
vy | 4 3] 2| -1 0| 1 and range of the data.
) Stem | Leaf
3 5144
2 66809
1 7108
< > 8/0368888
4 -3 -2 1_1 01 2 3 4X 916
2 10[11238 4[3=43
K median = range =
24. [Units of Measurement / Time] 30. [Probability] *
School starts at 8:55 am and ends at. A bag contains 6 white, 2 black and
2:45 pm. How long is aschool day in 10 green marbles. If amarbleis
hours and minutes? h min selected at random, find the probability
that it isablack or agreen marble.

25. [Perimeter] *
Using it = 3.14 calculate the

[Give your answer as afraction in simplest form.]

circumference of the circle. 31. [Problem Solving 1] *
What is the area of the trianglein
square centimetres?
/ i =
1cm?

26. [Area / Volume] *

Using 7t ~ 272 find the shaded area.

|

28 mm 12_+r;m 32. [Problem Solving 2] *
N A maths test consists of ten questions.
> Ten points are given for each correct
mm answer, and three points are deducted
27, IShapes] * for each incorrect answer. If Sue

attempted all the questions and scored

Find the value of x°. 61 points, how many correct

132° answers did she give?
: T\I\J'OSO 33. [Problem Solving 3] *
X On Monday, the escalator was not
28.  [Location / Transformation] working. It took Tom 18 seconds to
Redraw this quadrilateral after reach the top, climbing two steps each
reflecting it in the y-axis. second. By Tuesday the escalator had
A been repaired and Tom took only
3 12 seconds to reach the top climbing at
\\ 2 the same rate. On Wednesday Tom
\ 1 decided to ride the escalator without
|52 o1 2 84X climbing at all. How long did it take to

13 /2 -
\\ // reach the top this time?

S
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10.

11.

[+ Whole Numbers to 10]

23[14[-1][10]-9[ 2 [16] 8 |-15 7 ]| MATHS MATE
+5
[- Whole Numbers to 10]
6117|1924 |10| 2 |-15/21|-3|28
_9 Term 4 - Sheet 5
[x Whole Numbers to 12] Name: ...
—3 8 7 —11 6 9 4 12 5 10 Due Date: ........... Y Y
X 6 Parent’s Signature:
[+ Whole Numbers to 12]
49 _70 28 42 7 63 84 35 _56 21 ?:e(:ll—i:soht);-)rgio\:frs;ne who can look in the mirror
and laugh at what he sees.
=7
[Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
74 + 2092 — 777 = Which is greater? The number 9 has .
3 exactly three factors:
0 3% 1, 3and 9. Find the next
number after 9 that has
[Large Number x,«] * 13, riegers] exactly three factors.
3477 + 2= 48 + (-8) =
[Decimal +,-] 14. EAR\a;'TS / Rati(;)s] * h . 19. [Number Patterns] *
oney bee nas wings
C oo [egeed tledta
per second. At thisrate 15th term (n = 15).
Decimal x,+] * how many beats are
[ #] ) -
recorded in a minute?
2+04= :
beats/min
[Fraction +,] % 20. [E.xpress.ions]
5 2 15. [indices / Square Roots] * S mpl Ify
5-_32- 4X+9-2x-6
9 79 (-8)° =
[Fraction x,+] * 16. [order of Operations] *
3 2 /
5 X 5 = 36+ 64 = 21. [Substitution]
Ifa=5andb=2,
17. [Exploring Numbers] find the value of
[Percentages] _ Which numbers are a(a + b)
Roger made $25 profit rational ?
on the stamp collection A) -3 B) !
costing him $125. 8
What was his profit as a C) V18 D) = 22. [Equations] *
percentage of Solvefor x:
the cost price? and ox+329 | X=

page 65

L]z s ]le s Lo ) 7]e )2 Qo] a2 1s] 1e]15] 6] 17] s8] 1]




Authorised for the use of: CRAIG MCCAUGHAN

23.

24,

25.

206.

27.

[Coordinates]

Graph the line of equationy = x + 3 by

first completing this table of values.
[Label the line with the equation.]

X -3 -2 -1 0 1
y 0
(X!y) (_310) ( ' )( ) )( ’ )( )

YA
4

- N W

A

o
o
EN
=Y

I AN SR

\ 4

[Units of Measurement / Time]

It is Monday, 0250 hoursin Vancouver,
Canada, and Monday, 2050 hoursin
Melbourne. By how many hoursis

Vancouver time behind
Melbourne time? h

[Perimeter] *

Calculate the perimeter of the polygon.

T 55 mm 110 mm

25 mm

mm

[Area / Volume] *

Using Volume = area of base x height,
find the volume of the prism.

2cm
lB-3sem?| om?
[Shapes]
Match each diagram to its description:
@ chord
@ tangent
Q radius
@ diameter

28.

29.

30.

31

32.

33.

[Location / Transformation]

Which transformation has moved
triangle DEF?

A) atrandlation of -2 along the x-axis
B) areflectioninthelinex=-2

C) arotation of 90° clockwise

YA
6
D El,

4 D’

3

e
P F E’ o
65 4-3-2-1y0123456%X
[Statistics]

How many Oscars have been won by
actresses aged 50 or more?
Best Actress Oscar winners by age at win (2013)

35 .

-_ N
[ B

Actresses

0
RO Y Y A N RV N R

Age group

[Probability]

In how many ways can five
books be arranged on a shelf?

[Problem Solving 1] *

A gardener wants to fence the largest
possible rectangular area using

200 metres of fencing. Find the best
length and width
of the garden.

m x m

[Problem Solving 2] *

Michelle has $14 in her pursein 5¢,
10¢ and 20¢ coins. If she has an equal
number of each coin type, how many
coins does Michelle have
in her purse?

[Problem Solving 3] *

Using my tap, it takes 6 minutesto fill
our water tank. Using the neighbour’s
hose, it takes 9 minutes. How long

would it take if | used both the tap and
the hose?

min S
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1. [+ Whole Numbers to 10]
—9[14[13]-17]18]-1]12] 6 [15] 0 || MATHS MATE
+ 7
2. [- Whole Numbers to 10]
25114,-9/18|2722| 3 |10|-21 26
_6 Term 4 - Sheet 6
3. [x Whole Numbers to 12] Name: ...
3 10 11 5 8 —6 12 9 4 7 Due Date: ........... Y Y
X 8 Parent’s Signature:
4. [+ Whole Numbers to 12]
24 108 84 _48 132 120 _36 72 60 96 I?i?llio'i;}‘t‘sv\rﬁfsﬁ unwearable until everyone
else is wearing it, by which time it is unfashionable.
- 12 Rossiter
5. [Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
527 + 8473 — 583 = Which is greater? The number 10 has_
3 exactly four factors:
08or - 1,2,5and 10. Find the
next number after 10
. that has exactly four
6. [Large Number x,+] * 13, lintegers] factors.
1042 + 5 = 99 + (-11) =
7. [Decimal +.-] * 14. [Rates/Ratios] * 19. [Number Patterns]
2-0.64= It takes 3 minutes to fill If the general rule of a
a 60 L bathing pool. patternisn - 7 find the
3 _ . What is the average rate 22nd term (n = 22).
- [Decimalx,+] = in litres per hour?
9. [Fraction +,-] * 15 . y 20. [Expressions]
21 _ E _ . [Indices / Square Roots] Slmpllfy
4 4 (-4)° = 8a+7-3a+2
10. [Fraction x,] * 16. [Order of Operations] *
g><§= V5° +12% =
3 8 21. [Substitution]
17 Exsloring Numb If x=10andy =7,
11. [Percentages] * ' {/\)/(;)1?”?19' um irs] ~tional find the value of
Tina bought her car for by oreen 2X(x - y)
$6000 and later sold it ' 7
for $4500. Find the A) 14143 B)
loss as a percentage of o) V7 D) —28 22 [Equations]
the cost price. Solvefor s
4s-5=11 |S=
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23.

24.

25.

26.

27.

- 5mm
15 mm
mm

[Coordinates]

Graph the line of equationy = —x + 1 by

first completing this table of values.
[Label the line with the equation.]

X -2 -1 0 1 2
y 3
(X!y) (_213) ( ' )( ) )( ' )( ) )

YA
4

- N W

A

o
o
§N
<Y

NGO ORI

[Units of Measurement / Time]

The AFL game startsat 1:00 pm in
Perth. If Melbournetimeis 3 hours
ahead of Perth time, when should you
turn on your TV in Melbourne to catch

the start of the game?

[Perimeter] *
Calculate the perimeter of the polygon.
60 mm

20 mm

[Area / Volume] *

Using V = Bh find the volume of the
briefcase.

cms3

— B =400cm?

28.

29.

30.

31

32.

[Location / Transformation]

Which transformation has moved the
shape?

A) atrandation of 2 along the x-axis
B) areflectioninthelinex=3

C) arotation of 180°

YA
4

3
2
1

<
<

6-5-4-32-1y012345 60X

[Statistics]

How many of the buildingsin this graph
have more than 100 storeys?

‘£ 600 ~ WORLD’S TALLEST BUILDINGS

Height (m

525

0 40 60 80 100 120
Number of storeys

[Probability] =

A deli has alunch menu consisting of
one sandwich, one dessert and one
drink. How many lunch combinations
are possible from these choices?

drink: tea, coffee, lemonade, water
sandwich: salad, ham, tuna, roast beef
dessert: pavlova, fruit

[Problem Solving 1] *

| think of a number, multiply it by 2,
subtract 6 and then divide by 4. If the
answer is 8, what isthe
origina number?

[Problem Solving 2] *
The fraction of girlsin our class has
risen from % to % with the arrival of the

Henderson triplet girls. How many
students are there in our
class now?

[Shapes]' . . . - 33. [Problem Solving 3] *
What isAB in this diagram" . A clock gains 4 minutes every hour.
A) radius One day it is set to the correct time,
B) circumference 9:00 am. What is the correct time when
C) diameter the clock shows 1:00 pm
D) tangent X that afternoon?
8.4.6 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2013
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10.

11.

[+ Whole Numbers to 10]

13] 6 [-7]-22 9 [21]18]-15/10] 4 || MATHS MATE
+9
[- Whole Numbers to 10]
-10011| 9 |17/-8|12/26(13 /25| 4
_5 Term 4 - Sheet 7
[x Whole Numbers to 12] Name: ...
9 3 12 —7 11 6 10 8 —4 5 Due Date: ........... Y Y
X 7 Parent’s Signature:
[+ Whole Numbers to 12]
96 |24 | 56| 80 |-48| 64 | 40 | 88 |-32| 72 || i iwouisoe s soosiea
= 8 mﬁ:ﬁrra]:kizavr\]/ﬁlat he thought of Western Civilization.)
[Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *
849 + 3175 — 888 = Which is greater? What is the smallest
40% or 0.04 positive integer that has
exactly eight factors?
» 13. [Integers]
[Large Number x,+] _24 =+ (—6) _
3137 + 4 =
14. [Rates / Ratios] * 19. [Number Patterns] *
[Decimal +,-] The average heartbeat If the general rule of a
rate for persons 12 to 16 attern is 33 — 3n find
12 -9.63 = Id is 80 beat H
years olais S PEr the 8th term (n = 8).
minute at rest. At this
N rate how many timesis
[Decimalx.] the heart beating in two
9+0.03= and a half hours?
20. [Expressions]
[Fraction +,-] * gtm%llfy At
2§ — § = 15. [Indices / Square Roots] * ol tu
8 8 (-12)7 -
[Fgraction2><,+] i 16. [Order of Operations] *
10 % 3 50 - 23 x \/3>6 = 21. [Substitution] *
If p=6andq=>5,
[Percentages] * 17. [Exploring Numbers] flg\d the value of
Aaron bought a motor Choose the rational P +Pq
home for $50000. If numbers from the list:
he later sold it for 14 \/7
$10000, find the loss o' V3, 0.6341, 15, =
22. [Equations] *

as a percentage of the

cost price.

Solvefor q:
3g-1=-10

q=
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23.

24,

25.

206.

27.

[Coordinates]
Graph the line of equationy = 2x — 1 by

first completing this table of values.
[Label the line with the equation.]

X -2 -1 0 1 2
y | -5
(X!y) (_21_5)( ' )( ) )( ' )( ) )

YA

~

- N W

A

N
N
o
N
o
<Y

EFOCR RN

[Units of Measurement / Time]

At 4:00 am on Christmas Day, 1974 the
eye of Cyclone Tracy was directly over
Darwin. If Perthtimeis 1.5 hours

behind Darwin time, what was the time

in Perth?

[Perimeter] *

Calculate the perimeter of the polygon.

u f N T 3 gm 0
| : L
15cm 4+ 4
]
45cm cm

[Area / Volume] *

Using V = Bh find the volume of the
tray in the shape of atriangular prism.

cms3

B = 200 cm?

[Shapes]
Draw the diameter passing through A.

A

28.

29.

30.

31

32.

33.

[Location / Transformation]

Redraw this trapezium after reflecting it
in the line of equation x =9

YA
F7

T T T T T T
- NN W s~ 01>

A

yO0 2 3 45
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[Statistics]

How many soccer playersin 2013 in the
Brazilian squad were less than 26 year
old? .

Age

[Probability]
A one-dollar coin, atwo-dollar coin and

asix-sided die are tossed. How many
results are possible?

[Problem Solving 1] *

How many digits are written when
1000%°% js expressed as a
numeral?

[Problem Solving 2] *

A computer is programmed to scan the
digits of the counting numbers. For
example, if it scans
1234567891011 1213

then it has scanned 17 digits atogether.
If the computer beginsitstask and scans
the first 1392 digits starting with 1,

what isthe last counting
number scanned?

[Problem Solving 3] *

Eight soccer teams play each other once
during atournament. Two points are
awarded for each win, one for each
draw and zero for each loss. How many
points must a team score to be sure that

it will finishin the top four?
[The team must finish with more points than at
least four other teams.]
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10.

11.

[+ Whole Numbers to 10]

14]-16-12[10] 7 [ 1 [-18] 3 [19] 5 || MATHS MATE
+ 8
[- Whole Numbers to 10]
24112116 \-17/11 /20| 3 |15|-19 8
_7 Term 4 - Sheet 8
[x Whole Numbers to 12] Name: ...
9 8 5 —3 11 6 7 10 —4 12 Due Date: ........... Y Y
X 5 Parent’s Signature:
[+ Whole Numbers to 12]
18| 66 | 48 | 36 |—72| 30 | 54 |=24| 42 | 60 || smers o whots rotvorts cong st
=6 Rosster
[Large Number +,-] * 12. [Decimals / Fractions / Percents] * 18. [Multiples / Factors / Primes] *

2000 + 50000 - 14973 =

13.

[Large Number x,+] *

1724 + 8 =

14.

[Decimal +,-]

5-3.841=

[Decimal x,+]

6+08=

[Fraction +,-] * 15.
1 3.
10 10
| 16.
[Fraction x,+]
5 9
— X — =
18 10
[Percentages] * 17.

An antique vase was
bought for $80 and was
later sold for $240.
Find the profit asa
percentage of the cost
price.

Which is greater?
2 or 60%
3

[Integers]

-64 + 8=

[Rates / Ratios] *

A Ferrari witha5.5 L
engine has acity
consumption of 23 litres
of fuel per 100 km.
How much fuel doesit
need for a 20 km city
trip?

19.

L

20.

[Indices / Square Roots] *

(-2)°=

[Order of Operations] *

J16 - 3x 4+ 3% =

21

[Exploring Numbers]
Choose the rational

numbers from the list:

24 578 40, 7. -9

299’ 22

List the 3 smallest
positive integers that
have exactly four
factors.

[Number Patterns]

If the general rule of a
pattern isn® + 4 find the
6th term (n = 6).

[Expressions]
Simplify
9z+06y+y-5z

[Substitution]

Ifv=8andw=3,
find the value of
2V — W?

[Equations] *

Solvefor k:
7Tk +16=2

Kk =
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23.

24,

25.

206.

27.

[Coordinates]

Graph the line of equation y = —3x by
first completing this table of values.

[Label the line with the equation.]

[Units of Measurement / Time]

X -2 -1 0 1 2
y 6
(le) (_216)( ) )( ) )( ) )( )
)D/A
'
.
:63-4-39110 2 3 4 b?(
2
ev

Mick departs Sydney on Tuesday at
6:00 am and arrivesin Christchurch on
Tuesday at 12:45 pm. If Christchurch
timeis 2 hours ahead of Sydney time,

how long was
the flight?

h

min

[Perimeter] *

Calculate the perimeter of the polygon.

aE

T 36 mm

O
27 mm +9mm
]
1 17 mm
ml ]
28 mm mm

[Area / Volume] *

Using V = Bh find the volume of the

pentagonal prism.

mms3

[Shapes]

Draw the radius passing through M.

‘M

28.

29.

30.

31

32.

[Location / Transformation]

Redraw thistriangle after reflecting it
intheline of equationy = -1

YA
4
3 ”
|
T4 3 1,001 2 3 4X
2
3
4
Y
[Statistics]

Which best describes the relationship?

A) Height taller than arm span
B) Height shorter than arm span
C) Arm span equal to height

200 ;;Human body proportions

19
§
§18
[95)
£ 17
<<
16
150 w B Wfﬁn‘ v "‘
150 160 170 180 190 200
Height (cm)

[Probability]

A test hasfive True/False questions. |f
you answer each question with True or
False and leave none of them blank, in
how many ways can you
answer the whole test?

[Problem Solving 1] *

Peter and David live 36 km apart.

They leave their homes at 1:00 pm
riding bicycles toward each other. Peter
averages 8 km/h and David averages

10 km/h. At what
time do they meet?

[Problem Solving 2] *

Four consecutive whole numbers are
added. If the smallest number isn - 1,
what is the sum of the
four numbers?

[Problem Solving 3] *

If nisan integer, which of the
following must be an odd integer?
A) 3n B) n°+3

C) n+3 D) 2n*+3
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